K&=1— kK 18173007

REFIRA

A =
= %
F

g Y R

SCER - BIREAE

&

50 K

: EK30(2018)FE6AH9H (%)
s BRI AERE FFRRS GERiEI— R 171020)

—AXBAENE ANREFIE it s

. 5&?53 EEQ

D I\E FMER(FS VD)

CR{E AEXEB(FBEEFT)
D RER EE

B CDBIRR CRIY S CaCEx

JAAF

AR (T —ILR)

NAGANO

3%1‘3&%%.:5?%/\2 O 1 8

RFEDFRAEE

SECERODIEME| ISR

EH

SO2R

sCEx

K& (FHF)

F—L%

Fhig
PN ()

TERDECER

ASHh |a7sE

S A Yyhao-| 3

52.60

EH BEm2)

FE R

47.94

mOS I RIAFT423>

sl | Kix

[0

JEGER
(m/s)

=R
49

R | B
(%)

Kx

JE\=)

JEER
(m/s)

o
(©)

MEE
(%)

08:45

ES

1.1

25.5

57.0]12:00

i)

JE=

1.2

28.5

42.0

09:00

ES

1.0

25.5

63.0{[13:00

i)

FRALE

1.2

29.0

43.0

10:00

[E3lti]

0.2

26.5

51.0{{14:00

i)

FIRIPE

1.6

28.5

42.0

11:00

RER

n
B
B

n

1.4

27.0

47.0]]115:00

i)

2.0

28.5

42.0

D —)L RERICHIT DS DA
O kI - BehEt

m KARDBES DA
T2 fBOL—>(C A>Tz (R163-3a)

T4 TLAOSAFHTL—2ZBNAAICADTZ (R163-5)

X

EN

VAV

HEmE




REHREHPEFILHER2018 MyIEHIR ME SRR

[FAfEE] FR30&E6R9H 24-bh BHR SR i
(] —MHAZARFRELERES KRERMPEREEER BEmEHE i FEAED
_ SEREE RER A
RERE-ER
(CR: Bz 3) z T
1451 2 fi 3 i 4 i1 5 i 6 i L 8 fiL
B/8 # B EuE KB PR i BREKRTRE i BREKZRE i & KB FE i & KR i & KB PR 5 % KB FE i RIKZFE ol
6/ 9 kFH#BE ZEH HKREQ) 12.58 EHEF R (3) 12.91 f 35 Q) 12.97 4 BF Q) 13.00 A #7%4&(2) 13.02 F‘ii?s £ J6)) 13.05 ®hfE HIE (2 13.13|E8 B2 13.16
100m (L Dk =L ks 5= Bk ZfE Z5H
6/ 9 kFH#BE Fil REE Q) 26.56 /it BXQ) 26.96 5 EQ) 27.21 A B (3) 27.27 it BEQ2) 27.32 Wﬁ?z 2 NE)) 27.55 AR HZEQ 21.571=#% FE®O) 27.58
200m 254t % LtHER LtHREM SR E REFALE 5= =%
6/ 9 kFH#BE hAk HE Q) 2:23.36/4TR KRG 2:23.41 Wlﬁl j(ﬁ(ﬂ 2:24.66 #ATF #EE(2)  2:25.60 LW EAR(1)  2:26.35 E4 #HE(Q)  2:27.68 /T UMY (3) 2:28.39| U EBFR (1)  2:28.75
800m Him & CHe AET = BES TE
6/ 9 ZFHBE i xR (2) 4:47. 7\EF* DEQ 4:48.9 EPﬁ #EHE 3 4:53.7%MA EFEQ) 4:57.5 kK &i 5:03. 1[mJIl XFED) 5:04.2[F&M (D 5:04. 9[=EXK #if5 Q) 5:06.0
1500m KH BR = Hin AFIL TR FiR piL) AKX
6/ 9 KFH#BE R #0% (3) 14.50 F‘;’F iAE(S) 14. 81 iklﬁ R (3) 1511 £ ERQ) 16.08 /& 7 (1) 16.22 T #&& Q) 16.24 E.ilrt ) 16.39 Elﬁ £ Q) 16. 65
100mH (0. 762m) kg Nl +tHE =i B =% 0w {&i &/ 35
6/ 9 XFH#BE IR TR Q) 5.08(-0.1) mFt 3{69&(3) 4.78(0.0) EEREE(2)4.76(+1.1) Z&E Z=i(2) 4.65(+0.2) AL #I(3) 4.50(+2.3) MnE /NE (2) 4.49(-0.5) WIL% BT Q) 4.49(+1.0) EH% B (2) 4.42(+0.4)
ENEBE RIE E% it /A W53 Z5¥ tHER =¥
6/ 9 kFH#BE " Bl B¥ Q) 22.61 R/3+ BEQ) 21,46 £ BAX(2) 11.99
A RE fHH =t
6/ 9 kFH#BE ?EH #Em@)  52.60 A wBA Q) 34.26 L‘ﬂi% e (1) 29.81 R AR ONBH Q) 29.15 B8 BEHEQ) 27.30 F# #EEF Q) 23.963F &= (1) 23.64 )l EHEQ)  23.45
¥ 4N Yyhan- B CR| =4t FIBRAD =t /R BRI E% #HH




ZFHAE

BN 6A9H 1015 ]
100m
R
[ 148] & +0.5 [ 248] JA#E +0.4
ME| b-v | No. E £ iR S | |JE| LY | No. K mEA iR EE
1 3| 7499/hFk =R (1) 14.65 1 9| 6660|=)Il E# (1) 15.44
wyy W E EXMBIRA R L8
2| 9] 6611 EZ &R (1) 14.70 2| 5| 5843[3MA BBTE (1) 15. 46
13y 39 #b EEm B9F b (L IEs 3]
3 1| 5091|Em &%4H (1) 15.42 3| 2| 6720tk FEE () 15.82
kng 313 BE $I% Yty =2
4| 6| 5550|4E# EFITE (1) 15.82 4| 4| 6952\/pi BA (1) 15.91
9IvY WWh EHES WY 1Y% AEK
5| 4| 5847|F# mEN) 16.07 5| 6| 4236/ /R RREE (1) 15.92
Yk 1t &/ 9Ing Y1 BHiR
6| 8| 7052(#m:E FIMA (1) 16.12 6| 8| 71864 )1l E4n4 (3) 16.16
T 47 Uk HE BT v WkG)! =
7 7| 7465/ @ #£E (1) 16.20 7 7| 8287|/hv#k EFE(D) 16. 69
INEEEU) EXKHERA vy B o 1R
8| 2| 7053;:@K HmEm) 16.58 8| 3| 6612|141t K (1) 16.73
Y32' 1 HEET 4hh3 M ST
5| 7463|FR BEQ) 1| 5863|luA F#0(3)
7347 13 EXMBIRA Ri5 YEh 73 B/ HE Ri5
[ 348] J&:&E +0.4 [ 4#48] J&s&E +1.8
ME| b-» | No. K 4 ik B HE JE L-v| No. K £ mEA SRR fEE
1 2 8751 Hu BEQ) 15.12 1 2 7050 =@ #ZE (2) 14.81
N 73 BE 795 Azt hBET
2 7| 8238 ® vAET=(1) 15. 67 2| 9 6668 3RO ZE#t(1) 14.89
N ks Dt ¥4 F 3% £8E
3| 5 8235 #EED ZE(1) 15. 71 3 7| 7437 B@E E=H(1) 15. 21
k3" 1Y 718 Dt 1y 2323
4] 6 6695 E+E F () 16. 01 4] 6 4680 ¥ K #E (1) 15.35
1839 F BE Wi 45 LTHER
5/ 4 8025 &M BE(1) 16.35 5/ 8 7135 28 W& 15. 42
AN Yy 19y =0 /) 47 BARK
6 8/ 7970 F=Z mAE() 16. 60 6 1] 66697k #0R (1) 15. 49
1747 TAh =% #4273 £xm
73] 8140 @i BE(1) 16. 69 70 3] 7156 #O #NE () 15.55
79%F 7t% BRI 19" F 1hY 115
1/ 5856|FE BET(3) 4 5874 A F(2)
U5 t¥/ (EEs 3] Ri5 IR AT % B/ HAE Ri5
9| 7024 EX E() 5 4416 vk EEZE(1)
hZEL Yy /W Ri5 YYE IUH RINEED Ri5
[ 548 AE +0.7 [ 648] JEE +1.1
ME| b=y | No. K 4 EA S8R & | [JE|L-Y| No. K 4 mEA R (eE
1 1| 5165\ .UE #h3E(2) 14.93 1 7| 7254 K1T HEE (1) 14. 46
98 Az’ % =4t Tk EEh HE
2| 9] 6632|FH =4E() 15.15 2| 3] 8609/ BEA (1) 14.52
k34 ttt 2841 vyt ko R
3| 3| 7240/ EEF ) 15.17 3| 8] 7976|mEHx WEZ=() 14.73
TAng #¥h REF 7V E) HUF RE
4| 2| 4TN|ZF BAEREE (1) 15. 51 4| 9| T160| KARE M (3) 14.95
1) Iy FE LA R a4t 1G]
5 7| 6699 —& BmA (1) 15. 60 5 1] 7152|#r F@ () 15.07
199 M bt 4hmF Fto [1TEv]
6| 8| 8819|3#t Bx(1) 16.09 6| 2| 6707|EW BIEX5@3) 15.20
1T vt LTHE— YT Fnl =3
7 6| 5736|H+ mkFE(1) 16. 69 7] 6| 5092|&% £A() 15. 40
EVIS IR EL Bt h3vF 3% BE
4| 8052|/hHFk JKiE () 8 4| 8741 |FF FTR(2) 15.53
gy 3t EHR Ri5 Yh7 1 ZBFP
5| 6634| Kt DA (1) 9| 5| 8012|#*:Z FML (2 15.82
Ty eth 284 Ri5 147 ik Hif




[ 7481 A& +0.8 [8#] Ak 0.9
V- | No. E £ iR BRBE b-v | No. KE 4 mEA R fEE
11 1214|848 =) 14.30 3 7419|%H0 EE() 14.40
a0y Ut =5 /7 F 1 EPNGIEIAYN
4] 4418|FH FREN) 14.57 1] 4304|4t#t BBM@E (3) 14.65
734 113 REEE 1345 £th INER
9| 5845|FE FEAF() 14.68 2| T3 E/HE BEQ) 14.82
AN 13 &/ T B AL
3| 813911 /&) 14.74 7| 7475|@R E@E (1) 15.01
1993 b4 FARER U7 v EXMBRA
7| 8128/Et EE (2 14.85 5 8823|FH E(2) 15. 11
a0 7Y% RARER WAnT Y K
5| 6706|4E% #E4E (3) 14.94 8| 7192|Hh7E B (3) 15.16
AN 14 = | Th¥4 £37Y =i
2| 4678|1t:E BEFE (D) 15.20 4| 5712|%ki BZ=(2) 15.23
40 4% tHER LIS 72 it
6| 8750|%% FHE() 15. 41 9| 6633|/hy% #REE (1) 15.70
VAN BE 7+ 334 284t
8| 59117BH* =4 (3) 15.72 6| 8056[;%mM EiE (1)
#h4 144 =i 15 93 R Ri5
[ 9481 J&LE +1.1 041 R +1.0
-y | No. E £ ik SoEREE b-v | No. KE 4 mEA SRR fEE
5 8713 F#l 15X (3) 14.45 9 7247 At EFE(Q) 14.32
TAYE At it Thh5 3ty HERH
9 8712#MA Y () 14.52 8 8067 M FtBE(3) 14.49
74 1) wib 15 7% EHER
7| 8714 £k EMEQ) 14.68 5 7196 & BEZ(1) 14.56
#hy v1 it hy #1 =1
6/ 8057 &L Fjk (1) 15.05 6 8818 xA E(1) 14. 71
Javvy Ut HER 15 3t rTHE—
2 7498 #RE AT (1) 15.08 1/ 5168| Tk w55 (2) 14.97
747 nt/ EXMERE hb 9 133 &t
3 7004 AT:E 1E(2) 15.33 2 4308 &% LE(2) 15.20
Y147 Nt E8 7 13% INEER
8 8446 FEA EM () 15. 64 4 7495 B0 f&1E (1) 15.25
han 4 39 REAEE 7 F Tth EXMERE
1] 8178 #iF £ (1) 16. 93 3] 8023/ by EM() 15. 33
WY 3 E5E v 3 Him
4 4322 BB REQ) 7/ 8179 th[® E 4 (1) 16.25
133 3 FIR Ri5 thng %% 5=
1481 &EE +0.4 2481 REZE +0.6
V- | No. KE # B4 % EE b-v | No. K 4 mE4 8% EE
5 7485 #t@ &Q) 14.45 3 6599 HIE HWIE(2) 14.21
L35 nvh EXMERA ANy Yuh pet=ic)
9 8615 =3 Fon () 14.62 7| 5064 #fE FEE Q) 14.30
97 /% o &oline Toht Ith e
4 8743 B #E(2) 14. 71 5 7282 B E¥ () 14.49
T F $vh ZER 4nth 7Y ZEF
2 7205 HiE FFHHEQ) 14.73 9 6600 /My VA B (2) 14.59
AV E% 17+ Ehl STl
1) 4146)3E7 #2(2) 14.76 2 410 Bk 9 () 14. 61
kY $95 EAL] D4Hh tt R
3 4409 [ER #L1E (2) 14.77 1] 8804|dtI® #Z=(3) 15.00
A TYh HIEE 05 Y af Hip
6/ 7298 Lig ZTE(3) 14.79 4 5740 KB mBHE(1) 15.25
RAEVINED)] ZER YY1 B
8 8180 B £ho (1) 15. 66 8 8181 ik mE (1) 15.65
M4 4/ 5= 1M AR % 5=
7| 8770 =@ BM () 6/ 8170/hiE 51V 5 (2)
YA 8t ELES: Ri5 1Y°Y Ftn 5= Ri5




ZFHE
100m

[ 13481 RE&E -0.2 [ 14481 X +0.7
JE| b=y | No. K 4 R4 B HE | JE|L-v | No. KE % mE2 RSk EE
1 6| 5489\lLO EE (2 14.12 1 8| 57493I5F EM () 14.16
whF Uty EHEE It Y/ #’IE
2| 9| 6483/ HE BHE®A) 14.29 2| 3] 8048|E#E DEH() 14.25
thi nvt ERILE CYIVAVER EaEd ]
3| 3] 8359|En” MAE 14.38 3| 4] 6482|k2F EBF () 14. 40
934 H/h TRIB)I A/ a3 ERILE
4| 8] 5115|TA EHE(2) 14.56 41 2] 7051|528 BE (2) 14. 46
459 L4h h g5 YA D YUk hBET
5| 7| 6495| kg Fik(2) 14.58 5| 6| 8360|%:E M7t 14. 61
RAEVILLY BRI 149 /4 TR
6| 4| 8388|4#ER] EFE() 14. 60 6| 9 6651|ME £Z(2) 14. 69
) VAKALE| = 7% YN G 3k 2%t
7 1| 7399|F1L EE(2) 14.64 7 1| 7964|3%/R B (2) 14.80
TU¥Y 34t pid i) 07 ERS RE
8| 5| 4312|8RIF D (2) 14.79 8| 5| 7977|tEE B (1) 15.45
149" h 319 FlR YAY 7 b RE
9| 2| 7169k HBIE(2) 15. 26 7| 5485|&% ®F (2
s FIn 53 h3%9 Tht EEFRED Ri5
[ 15481 J&:E +0.5 [ 16481 & -1.1
JE| b=y No. K # ik ek HE  JE[L-v | No. K £ mR& ROk (HE
1 6 7496 BHE EZ () 14.62 1 8| 8824 ALy £E () 14.28
1y ny EXMBIRA 1% h/y Dt
2| 4] 8015 Ll FEx (1) 14.69 2| 6] 6566 =@ < BH(2) 14.34
T+ =4 NI BEX
3 5 6712 =K MIK(Q 14.90 30 3] 4679 ®BuL E2 () 14.40
PV = | THYY H3 THER
41 1] 7246 FiE EEE () 15. 05 41 2] 43707rFE HE () 14.42
by U4 REE Ahth ab EARE
5/ 8] 8177 B =&&() 15. 46 5 1 4462 RIE 05 (3) 14.46
WY T4 5= 9FF Y 237 HF
6 9 8049/#r% BFI() 15. 60 6 9 8745l #F (2) 14.52
4547 ETY HHER WA T ZEF
71 3] 8047EZx BE() 16. 71 70 4 8752/4EE EX) 14.59
75" &) 74 GEL 298 13 ik
8 7 8817 RHZE =51 (1) 17.00 8 70 8742 k% & (2) 14. 71
447 43 LTHE— IAAF Uy ZER
2| 5006 17 ELZ (2) 9| 5 8141 {FEE (1) 15. 56
457Y 33 /A Ri5 by 3% FEIBEER
[ 1748] FRE +1.6 [ 18481 X +0.1
JE[ b-v  No. K 4 B4 o8k EE  JE| L-» | No. K 4 RS ROSR{EE
1 2 T28#h 3 (2) 14.03 1 6| 4767 /AR £ (1) 13.91
I EE B R ™93 3 FELILE
2 1/ 5801 B8 HEL(3) 14.11 20 7 6692 ATE BIE©2) 14.12
% 744 B I8 EEN by
3| 6] 4280 EH HULM) 14.22 3 2] 4152|128 BEQ) 14.16
#h4 74h INEER Y4 39 EM
4] 9] 5784/FIL =FEE®) 14.22 47 8] T124]FxF0 #AE(2) 14.22
L3tv 113 B 49 79% Bk
50 7] 7007/ EE () 14.28 5/ 9] 5007 &A@ M) 14.23
awy Uy £ 934 17 /A
6| 5 8281 %& E(2) 14.30 6| 4 4654 =48 1= (2) 14.23
™o ot By iRER aany Yt LHZEM
70 8 6650/l B&(2) 14.37 1) 7201 /h#k EZEQ)
WYY Y% 25it vy g =154 Ri5
8| 3| 7424 )1 HizE Q) 14.62 3| 5001 A #®Z(2)
Thh™ 7 9% 7323 4th Lt wW/A Ri5
4| 7953E#E ##i(3) 5| 6496/hO ER4E (2)
Y 74Y RE Ri5 tF s ERERE xi5




[ 19481 JaE +0.4 [ 2048] J&sE +0.7
JE| b=y | No. K 4 R4 B8R HE | JE|L-v | No. KE 4 mE2 RSk EE
1 7| 5370[4LiR 1EEEE (2) 13.70 1 3| 8003|#*M Z=E (3) 13. 61
447 %3 HNET 19 % 97 EiR
2 1| 8055|i@i8 #(1) 13.78 2 1| 6567 % (2) 13.70
1437 19 MAEH 175" 713 HEEX
3| 9| 5060/ A% B4 (3) 13.97 3| 8] 8821|&EE £ (2) 13.85
1=y 44 BmE ot 4 Nt Dt
41 8] 44151/ E0 BLTH (1) 14.00 41 4] 4282|IuA bR (1) 13.89
Y/ RN ER #YED Hik INGEER
5 2| 7187|=i& &M Q) 14. 01 5| 7| 7491|hiE B (2) 14.03
VN =i Ty 3 14 EXMBRA
6| 3| 7968|LE ZE(2) 14.09 6| 6 4155|p&ER EI(2) 14.08
B3y v 3t =% YN A =M
7] 5| 5859|dtE EiE(3) 14.14 71 2] 7969|FRuE (1) 14.69
45°3 %398 %/ T 14 + 74 R%
8| 6| 7484|dhig =% (3) 14.22 8| 5] 7095/h#k & (1) 15. 49
Ty v 3% EXMBIRA gy 1y ne
4| 6489|R%: E£EH () 9 9] 7100/xBHF DEA) 15.94
1t 3 ERILE Ri5 fE 14 133 [N
[ 21481 JEE +1.1 [ 2248] JR= +0.9
JE| b=y No. K # ik ek E  JE[L-v | No. K £ mR& Rk (HE
1 2| 4408 =tk HAE() 13.73 1 5 8169 1#iE ;= (2) 13.42
37 7/n RIENRED VARV 5
2| 7 8591 KT BAEREE(@) 13.73 20 9] 4392 £® DEQ) 13.47
/98 74 o 91/ a7 EXHES:
3 9 8130/ =L HE(Q) 13.77 3| 2 5760 EiE #=3) 13. 51
P3¥v 2t FIBEER shny 17 PRI
41 4] 8822)IFHE E(2) 13.82 41 3] 8385 HE =) 13.60
W45 Y3 Dt ED M) =
5 3| 7963 @E#E WER(Q) 13.83 50 7 8172th#t B (2) 13.60
WE) Y R% thh7 Ik 5=
6 6 6786/IL— =& Q) 14.03 6| 8 7967 D #(2) 13.65
{7 # e )il 79N TR Y RE
7 8 5130/ HBF (3) 14.75 7 6| 8236 &% w4 (1) 13. 66
Wiy b ST $/ 22 9 i
5| 8358 /B WE 4] 6643/3RO #E(3)
3y W7 TR Ri% #95°F EhY 2314t Ri%
[ 23481 JRE +2.2 [ 24481 FRLE +2.2
JE[ b-v  No. K & B4 &R EE | [JE -V No. K £ mEA ROk (EE
1 3] 439312 £ = (3) 13.23 1 5/ 7074 th4f FE3(3) 12.97
Y93 kbR RIEMEED thhs ot NEHET
20 2] 7022/&@E KEW) 13.44 20 2] 8234mE (U0 (1) 13.40
Vs Ny H/H Nl Dk
31 6] 6691 /4Ll #£F (3) 13.55 30 7] T168 AR BZE() 13.49
Y 24t RE D39t Wt 3
41 9] 7263 HEn X () 13.59 4] 6 8223 mEE AEF®M) 13.54
14 14 REF 47 34 Dk
5] 7] 8820/ lLE &3 (2) 13.72 5/ 9] 8387 &EZE BH( 13.67
¥ 14 i b 740 =%
6 5 4644/#E ZKQ) 13.76 6 8 6790 A& @) 13.68
w5 M LHREM NER AR Bl |
71 8 7405/F# BAE (2) 13.91 71 3] 6641FL t&EQ) 13.76
BN ¥y M pigis 7Y H13 L 2P
4| 4325 & #FT (3) 8 4] 8086 HhER mt(3) 13.86
HH + 741 EIR Ri5 thy+ bt FA
[ 25#8] JEE +2.3 [ 2640] JEZE +1.1
JE[ 1=y No. KE 4 B4 iR wE JE VY| No. E % mE# REREE
1 3| 8054 B4t ®E (2) 13.00 1 7/ 7017 ZM@A #KQ) 12.58
/L3 19h BEH ok 4 a4 {EL;]
2] 9] 8173 A &4 & () 13.02 2] 4] 8226 A EZ(3) 12.91
Ny 3th 5= 51h )y Dt
3| 8 8145 =% FEALEQ) 13.24 3| 2 5807 EmE #AR(3) 13.05
9 $13 FAEER 4ty tf B
4] 7 8066 FHE EM@Q) 13.30 4 8| 4130 ®hFE EHHE (D) 13.13
Mt HR T4 VY M
5| 5| 43697t T (2) 13.37 5/ 3] 7280 58 B (2) 13.16
shnt 717 EARE E B ZEH
6| 2 6486 {ERK £FQ) 13.47 6 5 7482/ mE MEQ) 13.27
HE £ana ERIEE 193 /7 EXMBRA
7| 6 8447 ik FMEQ) 13.65 6| 8384/l HFX(2)
by /% RS E Iyn vt =% 23 Ri5
4 4394 ¥Rk &R () 9] 7396 =R ZEK(3)
1IN ¥y 1) g E: Ri5 17 3% K H Ri5




ZFHE
100m

BALL—A
JIEfL| No. K % EEE Fi-£3 ios (H) | EBE 8 | IEsL
1. 7017 #EH #K@Q) E88 12.58 (+1.1) 26 1
2 8226/Ee ;E (@) Dik 12.91 (+1.1) 26 2
3 7074 b4t FEHE(3) L) 12.97 (+2.2) 24 1
4| 8054 Br#t BE (2) AE 13.00 (+2.3) 25 1
5| 8173 ;A H% & (2) 5= 13.02 (+2.3) 25 2
6 5807 EmE tHAR(3) ERE 13.05 (+1.1) 26 | 3
7 A130/FkEE EE () il 13.13 (+1.1) 26 | 4
8 T1280EE B ZER 13.16 (+1.1) 26 5
9 43931 EFZ Q) RIEEER 13.23 (+2.2) 23 1
10| 8145 =8 FALEQ) FIBEER 13.24 (+2.3) 25 3
11 7482501 5% (3) [EPNIIEL AN 13.27 (+1.1) 26 6
12) 8066 HZE £75(3) FE 13.30 (+2.3) 25 | 4
13| 4369 tr{t 275 (2) EARE 13.37 (+2.3) 25 5
14 8234 '&F [TL (1) FRiE 13.40 (+2.2) 24 2
15 8169 iE45 /Z (2) 5= 13.42 (+0.9) 22 1
16] 7022 &v@ KE () /A 13.44 (+2.2) 23 2
17) 4392 E% L ZE (3) R ER 13.47 (+0.9) 22 2
17) 648612 K £F () ERILE 13.47 (+2.3) 25 6
19 7168 2% ¥ZE(2) [1iul 13.49 (+2.2) 24 3
20/ 5760 &1 = () Bt 13.51 (+0.9) 22 3
21 8223 EB=Z AE®V) FRiE 13.54 (+2.2) 24 4
22| 6691 1L #= Q) EE 13.55 (+2.2) 23 3
23| 7263 |HEN MERK (2) R 13.59 (+2.2) 23 4
24| 8385|FiE =& (2) = 13.60 (+0.9) 22 4
24| 8172|ch#t BRE (2) E 13.60 (+0.9) 22 5
26/ 8003/~ Z=dm (3) Him 13.61 (+0.7) 20 1
27 7967 &0 b (2) ic¥ad 13.65 (+0.9) 22 6
27| 8447 5@k FEQ) Bk A= 13.65 (+2.3) 25 7
29| 82364 % ;m4E (1) FRiE 13.66 (+0.9) 22 Ji
30| 8387/&EZE ZH (1) =2 13.67 (+2.2) 24 5
31 6790/#BX #*k@Q) &I NII 13.68 (+2.2) 24 6
32| 5370/JkiR IRFEIE (2) HET 13.70 (+0.4) 19 1
32| 6567/;thA % (2) Be 13.70 (+0.7) 20 2
34| 8820/ LA #3F () FRiE 13.72 (+2.2) 23 5
35 4408 =#m FRE() EXES: 13.73 (+1.1) 21 1
35 8591/ KTF BHERK(3) o Lo 13.73 (+1.1) 21 2
37] 4644/3HA EXK Q) LTHEEM 13.76 (+2.2) 23 6
37] 6641/ #L £E®Q) 25it 13.76 (+2.2) 24 7
39| 8130/l MEZ=(2) RS 13.77 (+1.1) 21 3
40 80558 #£(1) MAEH 13.78 (+0.4) 19 2
41] 8822)I1#A E(2) FRiE 13.82 (+1.1) 21 4
42 7963 BEFx VHR (2) RH 13.83 (+1.1) 21 5
43 8821 88 TE(2) FRiE 13.85 (+0.7) 20 3
44| 8086/ 4R M @3) 3B 13.86 (+2.2) 24 8
45 4282 LA #yR (1) INBEER 13.89 (+0.7) 20 4
46] 4767[/vAIR E (1) FE LA 13.91 (+0. 1) 18 1
46 7405 F# BAE (2) JEH 13.91 (+2.2) 23 7
48 5060 kP8 E#2(3) HE 13.97 (+0.4) 19 3
49| 44150/hi0 Bim (1) XSS 14.00 (+0. 4) 19 4
50 7187/ =& #71Q) =i 14.01 (+0.4) 19 5
51 7128/ ##k £ % (2) BE R 14.03 (+1.6) 17 1
51| 7491 chig B (2) EXMERA 14.03 (+0.7) 20 5
511 6786/ 1L— EH Q) de= i 14.03 (+1.1) 21 6
54| 4155 B&ER EJR(2) JER 14.08 (+0.7) 20 6
55| 7968 LB ZE (2) RH 14.09 (+0.4) 19 6
56/ 58018 HHLQ) EE 14.11 (+1.6) 17 2
57| 5489 1LO B2E(2) RHEI 14.12 (-0.2) 13 1
57| 6692 5 BE(2) b 14.12 (+0.1) 18 2
59| 5859/dtE FIE®Q) &/ A 14.14 (+0.4) 19 7
60 574915 &5 (3) 1B 14.16 (+0.7) 14 1
60| 4152/ £ A8 BXEQ) SRR 14.16 (+0.1) 18 3
62| 6599 HiE IMIE (2) Eam 14.21 (+0.6) 12 1
63 4280 jBEH HL A (1) INGEER 14.22 (+1.6) 17 3
63 5784 &ty FFEE(N) B 14.22 (+1.6) 17 4
63| 7124 gxF0 #A1E (2) BA R 14.22 (+0.1) 18 4
63| 7484 hig 3k (3) EXMERA 14.22 (+0.4) 19 8
67 5007 ZH m#E () /A 14.23 (+0.1) 18 5
67 4654 =18 EZX=(2) +tAFEMm 14.23 (+0.1) 18 6
69 8048 EiE o=&(1) HAEH 14.25 (+0.7) 14 2
70| 8824 A8 =F(2) Dit 14.28 (-1.1) 16 1
700 7007 /v IRED (1) {E8R 14.28 (+1.6) 17 5
72| 6483 hH [53% (3) BRILE 14.29 (-0.2) 13 2
13 121488 &= () =i 14.30 (+0.8) 1 1
73] 5064 #H5E FEE Q) e 14.30 (+0.6) 12 2
13| 8281 &= #(2) En o iR 14.30 (+1.6) 17 6
16 1247 o EFE () REE 14.32 (+1.0) 10 1
77 6566 ZE@H < 5H&(2) BaR 14.34 (-1.1) 16 2




ZFHE
100m

IEfz No. K 4 #53E FF R =K Aok (M) EE # [E&
78 6650 A1 F & (2) £/t 14.37 (+1.6) 17 ] 1
79, 8359 RE#A PREE TEIBRII 14.38 (=0.2) 13 3
80 7479|%0 XE () {EXRKERA 14.40 (=0.9) 8 1
80 6482 428 #F¥ (3) BRI 14.40 (+0.7) 14 ] 3
80 4679 ®il =2 (1) ERER 14.40 (-1.1) 16 | 3
83| 4370 7 &E (2) EARE 14.42 (-1.1) 16 | 4
84 8T13/FM 65 Q) Rit 14.45 (+1.1) 9 1
84 7485 #H iE (3) {ERMERA 14.45 (+0.4) 11 1
86, 7254\ KiF BKE (1) HEF 14.46 (+1.1) 6 1
86| 7051 4t:Z Mix (2) JEET 14.46 (+0.7) 14| 4
86, 4462 RIE 1D (3) AF 14.46 (-1.1) 16 | 5
89 8067 FHH Sk (3) mEHK 14.49 (+1.0) 10 2
89 7282 /&M EF(2) ZER 14.49 (+0. 6) 12 3
91 8609|/#k BXA (1) ke B 14.52 (+1.1) 6 2
91 82 #HA WY (3 BRit 14.52 (+1.1) 9 2
91 8745 Al #F (2) Z5R 14.52 (-1.1) 16 | 6
94 7196 $k mex (1) =i 14.56 (+1.0) 0] 3
94 5115|719 EHE (2) ¥ 14.56 (=0.2) 13 4
96| 4418 i H FELX() EXE Sl 14.57 (+0.8) 172
97| 6495/ EfF FiR(2) BRI 14.58 (=0.2) 13| 5
98 6600 /v U B (2) Baf 14.59 (+0. 6) 12| 4
98| 8752 fgM %k (1) EE 14.59 (-1.1) 16 | 7

100 8388 #ZfH ¥ (1) =& 14.60 (=0.2) 13/ 6
101 4410 Bgrp 5% (2) RAHRED 14.61 (+0. 6) 12 5
101] 8360[ ;%= WA{E TEIBI 14.61 (+0.7) 14 ] 5
103 7496 M ZFEF (1) {EXKERA 14.62 (+0.5) 15 | 1
103 8615/ =3 1FDH (1) & B 14.62 (+0.4) 1.2
103 7424/7)I] E:E% (3) $hRE 14.62 (+1.6) 171 8
106] 7399 Hl £#% (2) K 14. 64 (-0.2) 13 7
107 7499/h#x EA (1) EXMERA 14. 65 (+0.5) 1 1
107 4304 db4t (5 (3) INER 14.65 (=0.9) 8 2
109 5845 &R FAF (1) &/ HE 14. 68 (+0.8) 7.3
109 8714|{ZmE Mt (3) Bk 14.68 (+1.1) 9 3
111 80151l & (1) Him 14.69 (+0.5) 15 ] 2
111 6651|#AF £Z (2) £ 14.69 (+0.7) 141 6
111 7969 RAus B (1) =¥ 14.69 (+0.7) 20 | 7
114] 6611/ £ X&) Be 14.70 (+0.5) 1.2
115 87438 #)E(2) ZER 14.71 (+0. 4) 1] 3
115 8818/ AMH E#k(1) FHRE— 14.71 (+1.0) 0] 4
115 8742|/k3% Z(2) ZER 14.71 (=1.1) 16 | 8
118 7976 ks #EZ (1) RE 14.73 (+1.1) 6 3
118 7205 H1iE FFHE () =% 14.73 (+0.4) 1] 4
120] 8139118 B« () FAER 14.74 (+0.8) 7 4
121] 5130[/M#& BRF (3) i 14.75 (+1.1) 21 17
122) A146[iA7k #:(2) o] 14.76 (+0.4) 1] 5
123] 4409 FT8p #LEE (2) EXES 14.77 (+0.4) 1m. 6
124 7298 L& E1E(3) ZER 14.79 (+0.4) 1] 7
124] 4312|8R3F 10 (2) EIR 14.79 (=0.2) 13 8
126 7964 3kJR BE (2) Jictiig 14.80 (+0.7) 4] 7
127 7050|42H #x (2) JEHT 14.81 (+1.8) 4 1
128 7134|5348 B (1) B Ak 14.82 (-0.9) 8 3
129 8128 P ¥&F (2) FARRE 14.85 (+0.8) 7.5
130 6668 #kO 4 (1) ErE 14.89 (+1.8) 4 2
131] 6712 —K H{X(2) =H 14.90 (+0.5) 15 3
132] 5165/1UH 2 (2) st 14.93 (+0.7) 5 1
133 6706|5287 & (3) =# 14.94 (+0.8) 7. 6
134 7160 KAR MES (3) [1Tpv] 14.95 (+1.1) 6 4
135 5168 Tk Wwo 5 (2) ot 14.97 (+1.0) 10 5
136, 8804db/R #i% (3) Him 15. 00 (+0. 6) 12 6
137 7475/#8:R B (1) {EXMEA 15.01 (=0.9) 8 4
138 8057 41l FiR (1) HH 15.05 (+1.1) 9 4
138 7246 | Fik =k (2) FEF 15. 05 (+0.5) 15 4
1400 7152|479 FiE (1) [1Tpv] 15.07 (+1.1) 6 5
141 7498 #&:E (377 (1) {EXMEA 15.08 (+1.1) 9 &
142 8823 &R % (2) Pk 15.11 (-0.9) 8 5
143 8751 /a1l ER(1) EE 15.12 (+0.4) 3 1
144 6632 F£H =4 E (1) 284 15.15 (+0.7) 5 2
145 7192\ (&% (3) =i 15.16 (-0.9) 8 6
146, 7240 /P #%EXEF (1) FEF 15.17 (+0.7) 5 3
147] 6707 B4 5(£5 () =# 15.20 (+1.1) 6 6
147 4308 3k BF (L& (2) INEEER 15.20 (+1.0) 10 6
147] 4678 dLiF Bk (2) LtHER 15.20 (+0.8) 7.1
150 7437|2H =& (1) 7323 15.21 (+1.8) 4 3
151 5712 &ift B% (2) a1 15.23 (-0.9) 8 1
152] 7495/ %00 #&7E (1) {EXMERA 15.25 (+1.0) 10 ] 7
152| 5740 X & EAHE (1) L2 15.25 (+0. 6) 12 1
154 7169|885k HEZE (2) 175wl 15.26 (-0.2) 1319
155 7004 TiE 7E(2) =L 15.33 (+1. 1) 9 6
155/ 8023 sy = (1) Him 15.33 (+1.0) 10/ 8
157 4680 #AK #R (1) tHER 15.35 (+1.8) 4 4




ZFHE
100m

IEfZ No. K # #E R R4 e (B) | W= M OIEA
158 5092 2% %A (1) [y 15.40 (+1.1) 6 17
159| 8750 L% HFEPE (1) EE 15.41 (+0.8) 7.8
160| 5091 FEH H74rd (1) [y 15.42 (+0.5) 1.3
160 7135 28 W& (1) B 15.42 (+1.8) 4 5
162 6660 =)I| H#& (1) SrE 15.44 (+0.4) 2 1
163 7977 1#2:F 3 (1) Jictiig 15.45 (+0.7) 14| 8
164 5843 #EM [BIE (1) &/ 3HE 15.46 (+0.4) 2 2
164 8177 il B& (1) 5= 15.46 (+0.5) 15| 5
166) 6669 ZFpg IR (1) SRE 15.49 (+1.8) 4 6
166 7095 /MFE % (1) [N 15.49 (+0.7) 20 8
168 4771 7% ##3 (1) FR LA 15.51 (+0.7) 5 4
169 874178+ 3k (2) Z5R 15.53 (+1.1) 6 8
1700 7156/ # 0 #nE (3) [1Tpv] 15.55 (+1.8) 4| 1
171 8141 Rk Sk (1) FARRED 15.56 (=1.1) 16 | 9
172| 6699 —i& HA (1) ¥E & 15. 60 (+0.7) 5 5
172| 8049 714t BF1(1) FH#E 15. 60 (+0.5) 15| 6
174 8446 REH £/ (3) R = [ 15.64 (+1.1) 9 1
175 8181 ik W& (1) = 15. 65 (+0. 6) 12 8
176 8180/ Els Eh o (1) = 15. 66 (+0.4) 1] 8
177 82388 W at=(1) Pl 15.67 (+0.4) 3. 2
178] 6633]/vyv #BEE (1) 2 15.70 (=0.9) 8 8
179] 8235 K&#8 &2 (1) Pl 15. 71 (+0.4) 3 3
180 S911[iEH W =43 (3) HiE 15.72 (+0.8) 7.9
181 67204218 & (1) =# 15.82 (+0.4) 2 3
181] 5550 #& EFITE (1) REFAHR 15.82 (+0.5) 1. 4
181 8012 #:Z HMA (2) Hem 15.82 (+1.1) 6 9
184 6952/ A (1) EK 15.91 (+0.4) 2 4
185 4236/ L& REfE (1) BHIR 15.92 (+0.4) 2 5
186, 7100 KHZA =) ng 15.94 (+0.7) 20 | 9
187 6695 A+ F5 (1) e 16.01 (+0.4) 3 4
188 5847 ##+t Hx (1) &/ HE 16.07 (+0.5) 1.5
189) 8819|HH Bk (1) LFHE— 16.09 (+0.7) 5 6
190] 7052 #n:E FwA (1) JEHT 16.12 (+0.5) 1. 6
191 7186/%&)Il E %048 (3) = 16.16 (+0.4) 2 6
192] 7465/#1H #x (1) EXKERA 16.20 (+0.5) 1 7
193] 8179|/R E4 (1) == 16.25 (+1.0) 0] 9
194 8025 &+ #E (1) Hm 16. 35 (+0.4) 3 5
195 7053 ;&K FHH (1) JEHT 16.58 (+0.5) 1. 8
196 7970/ FE:E BHEHE (1) RE 16. 60 (+0. 4) 3 6
197 8287/h#k EFE() By IRE 16. 69 (+0.4) 2 1
197 8140/gH#h 2B& (1) R AR 16. 69 (+0.4) 3 7
197 5736/ =+ BEE () 2 16.69 (+0.7) °o 1
200 8047 mkfx B (1) BHE 16. 71 (+0.5) 15 | 7
201 6612 %1% B (1) Baf 16.73 (+0.4) 2 8
202 8178 #xi% XM (1) =2 16.93 (+1.1) 9 8
203 8817/BEE =Y (1) tHE— 17.00 (+0.5) 5] 8




X FHE

[REE 6H9E 14:55 |
200m
R Bk
[ 148 A +3.1 [ 2481 ik +0.5
JE[ L=y [ No. K % £ ok mE | IE -V No. E & B3 g EE
1 4/ 8149 AL EFIE (3) 29.51 1 1 6721 FRE £%F () 31.00
thv a7 FABEER Iht 3% =/
2 7/ 8058 =:& #n1(1) 31.00 2 2 7188 HEE =& (3) 31.57
| 1347 $1°3 HHER | WY 3t =
3| 9 8021 A% #HiE(1) 32.38 31 1 4508//hER Z(1) 31.69
| L7 iR | ' yy th HFAE
4 8 7367 £l (2) 32.84 4 4 7362 BH EFLREQ) 31.92
, N A3 =3 | 194 113 )|
5/ 6 71365 =T Z(2) 32.86 5/ 6 7195/ %M BEX) 32.43
| N2 Vb el | 7hnd i3 =t
6| 3 80223RT #H#E() 34. 44 6| 8 b5562/{£BiR UA Y (1) 32.65
| HhY AR Hif | ¥/%h £hY =1
1 2 732 ki =i\ () 35.50 7 3 6451 thE /NEERR () 34.23
| h3van 39 Bk | 154 " an 54
8 5| 6447 mmE = (1) 37.80 8 5 8024 /hFk ZEB (1) 34.35
hhy 74 i Ay W g
9 1 6449 Mk &) 51.75 9 6454 bl ZHE (1)
iy 7Y E the 74+ i Ri5
[ 348] ®EaiE +0.9 [ 448] X +2.6
JE| L=y | No. E £ B4 ek fHE | IE -V No. E & B4 R mE
1 3 7369 1B BFHTE () 29. 68 1 7/ 6604 £r&t (X752 (2) 29.08
JV3Y a/h el 95h5 nt e
2 6 8063 :EDO Fi#&(3) 30. 34 2 6 7489 A+&E HiE(2) 29.09
¥ Uk aEd 11" 3% 71h EXMERR
3 4 6715 b #Z&=(2) 30. 42 3 8 7194 7%F #E(1) 29.75
T3 # =4 ANt HIT = |
4 2 6667 MR =i (2) 30. 45 4 3 6590 AR FF Q) 30.15
YUty A1) 2R Y547 Y3 LAY
5 T 4642 IMRF BFE=Q) 30.59 5 1/ 6598 #8iR & <# (3) 30.53
e 7ut L HEM VISRV e
6 1 6948 1848 %F(2) 30. 69 6 5| 7356 5K E4<ZF () 30.71
93 1Y 13 AKX AR T1h el
7 8| 8089 F7iF 2= (3) 30.83 7 4 6444/[7 =R (2) 31.16
¥ % 7H4 FH YRV 53
8 5 6450/ L& =& (1) 31.42 8 2 5714 Ik Ik (2) 31.57
h3v an 74t J= w14 Liot(a
9 9 4151 /h#k EZFRF () 31.91 9 6593 —# B (3)
vy i3 | SIS L e Ri5
[ 548] [EaE +3.1 [ 6481 JEE +0.3
JE[ v-v [ No. E % P EA B EE JE Vv No E £ R4 BRIEE
1 5/ 6788/AH FiK(3) 28.31 1 8 5372 4N FE(2) 27.71
41h TA3 =il T 49 73 HNET
2 9 6705 L& #+F () 28.95 2 7 6711 2@ EBHZQ) 27.84
h3Y" 39 vana =4 935 9% =
3 4 8069 e {E(3) 29. 01 3] 6 8068//NE EEE (3) 28.24
o3 V17 HEH 1745 A E
4 2 MAT N EiE®Q) 29. 46 4 5 6822 R BARE (3) 28.91
1707 113 AL n; Eth =)
5/ 7 5694 =&E £@3) 29.51 5| 4] 5405/dtLiR 2@ (3) 29.02
g REEILE 449 £4h HNET
6| 3 6594 #Mk Hi(3) 29.77 6| 2 7002& BEM(Q) 29. 74
VIR A=Y Nt} 1588
7 8 8280 =& H%E(2) 29.93 7 3 6446 A W= 30. 34
NvilEes B R WP 13 J=4
8 6 7406 FHiR #kiE () 30.58 9 6445 #x@E FE(2)
EVy VRS JEH W 47°% i Ri5




X FHE

200m

[ 7481 @EiE +1.1 [ 8481 R&AZE +1.7
IE| LY | No. E £ R4 BHE = IE LY No. 4 riR% ik EE
1] 6 7404 h¥t #bE (2) 27.32 11 5 6640 i REZE(3) 26. 56
thh3 #4 pida P45 3 SR
2 5| 8229|fRE #i#b(3) 27.85 2 3] 5800 /it BE(3) 26. 96
19°3 )% Dt M 73 EkE
3 8| 6713|FE BE() 27.93 3] 4 4687 =T E®Q) 27. 21
Y 50 =8 WL tRER
47 2 7487/ At BEEQ) 28.33 4 8] 4669/E B (3) 21.21
| 5th a7t EXMERAE | §th 4% tAZEM
5| 4 4273 4@ @AIEQ) 28.46 5| 7 5659 NiE A Q) 27.55
| 49 9% e E | AR EEIL&
6| 3 6580 FE PEBEQ 28.63 6 9 8171 hE FZ(3) 21.57
| A #h BER | thng J7 5=
7 9] 6930/)IIE %E®3) 28. 71 70 6 7955 =# FE @) 27.58
| 17 —RE | I8 FHY EE
8 7| 55613 EHA) 29. 20 2| 5214 FiF = (3)
791N TYE = E5Yh Y% = x5




L FHRE
200m

R A LL—XA
JEHL No. E & #EFFIE R4 ek (R) | EE #8 IEf
1] 6640 5 KR8 (3) 254 26.56 (+1.7) 8 1
2 5800/t Z3E (3) EE 26.96 (+1.7) 8 2
3 4687 BT FE®Q) tAER 27.21 (+1.7) 8 3
4| 4669 HAE £ (3) FAEM 27.271 (+1.7) 8 4
5 7404 it #A (2) KHE 27.32 (+1.1) 7 1
6 5659 Wk EAKQ) EHIE 27.55 (+1.7) 8 5
7 8171 /R 2 (3) &= 27.57 (+1.7) 8 6
8 795 =% FE®) =¥ 27.58 (+1.7) 8 7
9 5372 4NE WX HNET 27.77 (+0.3) 6 1
10 6711 2@ EZ() =8 27.84 (+0.3) 6 2
11] 8229 R & F1#b (3) Dt 27.85 (+1.1) 7 2
12| 6713 =FE BE(2) =48 27.93 (+1.1) 7 3
13| 8068 /NE& BRE (3) T H bR 28.24 (+0.3) 6 3
14| 6788 Hh #K () de=w il 28.31 (+3. 1) 5 1
15 7487 A BHFE(2) [EPNGIEL NN 28.33 (+1.1) 7 4
16) 4273 #1;F RATE (3) = E 28.46 (+1.1) 7 5
17 6589 {Fi& WEE (2 BER 28.63 (+1.1) 7. 6
18] 6930 JII.E % (3) 1—®#E 28.71 (+1.1) 7 7
19 6822/ R #H&R&E Q) =3 28.91 (+0.3) 6 4
200 6705/ EME #1F (3) = 28.95 (+3. 1) 5 2
21 8069 =& 18 (3) AEWR 29.01 (+3.1) 5 3
22| 5405 4tiR 2= (3) ANET 29.02 (+0.3) 6 5
23| 6604 4t (745 (2) Eam 29.08 (+2.6) 4 1
24| 7489 H+E HiE(2) REPNTET S 29.09 (+2.6) 4 2
25/ 5561E M) = 29.20 (+1.1) 7 8
260 4147w £ Q) 3G 29.46 (+3.1) 5 4
27 8149 5Ly EFid (3) FIBEER 29.51 (+3.1) 1 1
27 5694 =R # (3) REFILER 29.51 (+3. 1) 5 5
29| 7369 18 FENTE(2) )1 29.68 (+0.9) 3 1
30 7002 ;& BmETH(2) {SEH 29.74 (+0.3) 6 6
31 7194 =3 #t (1) =1 29.75 (+2.6) 4 3
32 6594 #AHk Hib (3) Eafl 29.77 (+3.1) 5] 6
33 8280|=:F HZE(2) Eg o {RE 29.93 (+3. 1) 5 7
34| 6590 AR Fi+ Q) el 30.15 (+2. 6) 4 4
35/ 8063;&0 %if& (3) R ] 30.34 (+0.9) 3 2
35 6446 mA MZE=(1) " 30. 34 (+0.3) 6 7
37| 6715 FL #2=(2) = 30.42 (+0.9) 3 3
38| 6667 fH{R BE&E (2) EXo0) 30.45 (+0.9) 3 4
39| 6598 #3;R & <H(3) f Y] 30. 53 (+2. 6) 4 5
40 7406 FHiR HKEE (2 JKHE 30.58 (+3.1) 5 8
41 4642 /IMRF FE Q) FAEM 30.59 (+0.9) 3 5
42| 6948 185 ¥ (2) &K 30.69 (+0.9) 3 6
43 7356 $5K FE4LZEF Q) )1 30.71 (+2.6) 4 6
44| 8089 FE 2 (3) [ 30.83 (+0.9) 3 7
45 6721 FZE =& (1) =8 31.00 (+0.5) 2 1
45/ 8058 =& #1(1) o H bR 31.00 (+3.1) 1 2
47| 64447 £R (2) i 31.16 (+2.6) 4 7
48| 6450 L& =E (1) s 31.42 (+0.9) 3 8
49 7188 B £EF (3) =i 31.57 (+0.5) 2 2
49| 5714/h#k H1K (2) B 31.57 (+2.6) 4 8
51 4508 /I#k Z(1) HFI 31.69 (+0.5) 2 3
52| 4151 /h#k EZERF (3) ] 31.91 (+0.9) 3 9
53| 7362 AH FALE(2) )| 31.92 (+0.5) 2 4
54| 8021 X% #FiE (1) Him 32.38 (+3.1) 1 3
55| 7195 FI B=E() = 32.43 (+0.5) 2 5
56/ 5562 {&%rk UMY (1) =B 32.65 (+0.5) 2 6
57| 7367 h #hiis (2) )| 32.84 (+3.1) 1 4
58 7365 BT ZE(2) I 32.86 (+3.1) 1 5
59| 6451 th@A /NEBE (1) i 34.23 (+0.5) 2 7
60 8024 /& ZERE (1) Him 34.35 (+0.5) 2 8
61 8022 iR £#5%E (1) HiR 34.44 (+3.1) 1 6
62 7132 kg =& (1) B Ak 35.50 (+3. 1) 1 7
63 6447 miE = (1) i 37.80 (+3. 1) 1 8
64 6449 ik # () |d 51.75 (+3. 1) 1 9




[REE 6A9H 13:05
800m
R
[ 18] [ 248]
ME| b-v | No. E # iR S | |JE| -V | No. K 4 mEA iR EE
1 7| 8002|ch#k #E (3) 2:23.36 1 8| 5026| LIl =4k (1) 2:26.35
AN ¥ Y 1) Him AEvAE Y AEF
2 1| 668941k #4X (3) 2:23.41 2 7| 8166/ EL #HE (2) 2:27.68
9’717’ ""3 iﬁﬁ 7:/,\“ ;EIj. ﬁ'é?
3] 11] 4505|% MR K (1) 2:24. 66 3 3| 8064 | &t UMY (3) 2:28.39
9% t0h AFI /L7 EhY FEH
4 9| 6894 AT #EXk (2 2:25.60 41 11| 8481 TIE #3x(1) 2:28.75
WYY 45 —HA& YEY Y ant T &
5 5/ 4701|#x £45 (1) 2:31.40 5| 10| 5025 |fEp E&E (2) 2:29.78
N R ik LHENR 7AT 17 AEF
6 4] 4768|%JF =i (1) 2:32.74 6 9| 8053|&HK ¥ (2) 2:30.27
hn' 5 33 FE LA 4h% 13 HHER
7| 12| 8624\#ATF BAEE(3) 2:33. 21 7 1| 46355 #£7E (3) 2:31.04
WY MEh B4 B #4114 LTHE=
8 6| 6060|M= £k (3) 2:33.94 8| 12| 4503|#% FEKZE (3) 2:36. 21
429 3t L& WY 1 AF
9 8| 6666 LA MR (2) 2:38. 64 9 5| 7962|/hE FZE(2) 2:36. 56
Y58 19% ZfmE ' 347 RE
10| 10| 56198k & ZE(2) 2:40.52 10 2| 7150\ HHE Q) 2:37.30
1493 Y3 =B g 71k [1ipul
1 2| 5844|hE (1) 3:28.39 1 4] 8231|1&FhA E==2 () 2:38.28
Thy' v U4 &/ HA 19y" ht1 ik
3| 7420\ 4T #ETE (3) 12 6| 7285 MG EE (1) 3:13.29
Thh 7¥h E7.92:3 Ri5 W% & b ZEBF
[ 348] [ 4481
JE| b=y | No. KE 4 B4 foék %= | JE L-v| No. K 4 MEA PR (EE
1 6/ 8168 % IZD A (3) 2:31.62 1 3 67245t HFXK() 2:35.72
) &/h 5= Yy M =i
2 70 7189 /NH #haF (3) 2:33.17 2 70 6607 &)1l #5685 (2) 2:36. 96
147 2R N =i IVh9 14 ST
3 20 7284/ FF ERE Q) 2:36.15 3 1] 6499 FHtk 2EE(2) 2:37. 61
Thntk 34h ZEH % ERILE
4 1 6334/l B2 (2) 2:36. 21 4 12 5873 ER FE(2) 2:39.60
Y % & kAN B/ HA
5 4 T106 xH FH5(2) 2:36.43 5 6 8100 &% #Z(3) 2:41.43
T4 F [N Y/ nt FIBEER
6 8 8147 =W =£(3) 2:36.74 6 2| 7266/ lLA 555 (2) 2:41.82
bYY FE FEIBEER 7y 933 HEH
7 3 4671 TE Em (2 2:38.14 7 4 41561k =F0(2) 2:41.95
YEY Y HR3 LTHER #b9 39 bEAL]
8| 10 7483 =45 E= (3) 2:38.58 8 9 7005 /% ¥ (2) 2:45.75
ahny 14 EXMERA T 47 {E88
9 11] 8375 FMP\ FEHF®) 2:43.49 9| 11 8275 /h# #H7E (3) 2:47.91
TAnt +1 = w Yy 1z h B4 4R
10 9/ 8001/ s (3) 2:44.47 10 5 5617 {Fik & (2) 2:59.67
Th 33 # =4 YN =
1 5 4689/ ik FEE (3) 2:51.06 8 7049 By ZZ2A(2)
an vy £33 LTHAER 17% 1an /A Ri5
12| 8175 3RAK #E Q) 100 7297 /Mir &k Y B)
#hEh E5E Ri5 T €3y ZEH x5
[ 5%3]
ME| b-v | No. E 4 E# sk K= | JE L-v| No. KE 4 mE4 iR lE
1 9] 4506 §#H HFE) 2:39.62 1 8 5910 FHHE FFH Q) 2:55.08
134 7V 3 HFAE M5 bk =1
2 20 7958 @A HRE(3) 2:41.42 12 11 5737 |EZE #1= () 2:57.67
Y V2 =% Ty 9 #t HBIE
3 1] 6494/%f £ BH (2) 2:41.50
L3h3 7HY ERILE
4 7/ 6605 MiZ BHE (2) 2:42.50
afa" Th e
51 12/ 5401 &i& Bk (3) 2:43.24
Thy' 9 Ut HNET
6 10 8014 #R FH#N1(2) 2:48.83
W3 A Eim
7 6/ 8717 /K () 2:49.02
an' vy 1t Hit
8| 4 7950 /Z BAEZE(3) 2:49.72
0 728 =%
9 5/ 7003 BJI| BE(2) 2:50. 68
A9 U4 1E8
10 3 7210 ¥R LA (1) 2:51.69
4% M T




[ 6481 [ 748]

ME| b-» | No. E £ iR W fwE | [JE| L-v]| No. KE 4 mEA BHE(EE

1 5/ 7055|% BE (2) 2:39.12 1 9| 6953|#ME B&HE (1) 2:43.09
A Y #93 JEET Y47 b AKX

2 3| 8412\ |&E ¥t (2) 2:40.72 2 5| 4499\ ”¥E £ (3) 2:47.92
NZ1y 7Yt REEE nFE Y 0t AFIt

3 1| 7359 8w LVAREF (3) 2:41.18 3 4] 6723/ A'E4R BAR (1) 2:51.25
731 47°% i3l 199" % 141 =

4| 11 T249|F% REQ) 2:41.88 4 7| 6565|8:F M4 (©2) 2:56.22
1n REFF Y347 23t HER

5[ 12| B371|K# 51=(2) 2:47.31 5 1 8274| KT #R=E @) 2:56.93
L7 9% HIET $/v4 3ab By o iR

6 8| 4649 #HIl BEZE(2) 2:49.85 6 6| 6696|424 (1) 2:58.49
Wy WEkE] L HEEM ATEN W EE

7 6| 5748|BH 1&EH () 2:50. 27 7 3| 8715\ IlLE E= Q) 2:58. 66
194 1% 7’ Y4 41 Hit

8 7| 737014r £ b3 (2) 2:51.32 8| 11| 5862|#xFE R’ @3) 3:00. 27
A3 13F el Wi b3 &/ HAE

9 4| 7001|FhIE 1M (2) 2:52.06 9| 10| 7244|F# Ef£(1) 3:00. 62
thy° 3 33t 8 B3N Y ITH HERH

10 9| 8148|dtiE V1= (3) 2:54.74 10 2| 8016/5FK Z (1) 3:10. 64
947 b1h FAEER YIR Yy Eim

1 10| 7486|@A FH5(2) 2:58.89 8| 707815 BWEX(2)
a0 FAl EXKMERA Yty 7 W3t B BT Ri5

12 2| T433| AR E (2) 3:30.09
14 0 3% 7323

[ 8#8] [ 943]

JE[ b-v  No. KE £ EA IR HE  JE L-v| No. K 4 mEA R (EE

1 5| 4645 E£H mA (2) 2:51.717 1 100 8143 dt/& #HA (1) 2:42.82
434 3tk tHEM 905 hut FAEER

2 9| 8706 #& E/HFI(1) 2:52.27 2 4 5842 #&iE EKk (1) 2:46.99
Ny 31l 3 U7 it &/ HA

3 8| 4509 fEfE WE= (1) 2:59.01 3 7 8389 0O F=() 2:48.72
NEh 3% AFI 7 F Ut =%

4 1] 5897|dtE & (2 2:59.56 41 6 4077 &H £(2) 2:49.13
403 4% =i htd Y R

50 2] 7198[/h#k FEF (1) 3:02.51 5 1] 8060|[RME @3 (1) 2:57.54
Yy /h = N3 et HHR

6 7 5914 £)Il E (2) 3:03. 40 6 3 4507 A&E EH (1) 3:03. 36
hnp7 13t =i hiE 5 o/ HFIb

7 6/ 5400 KA{RE H7H(3) 3:05.73 7 2| 8701 5%EE BEER (1) 3:06. 64
Tt 333 HIET SNV VAl [1T5y]

8| 3 74718 kHE #3ZE() 3:05.95 8| 11 8059 /B #£Z (1) 3:15.04
th' 4 4+ EXMERA Y'Y 15 iR

9 4 7137 EF/ =R () 3:06. 55 9 5/ T ch#t % (1) 3:15.98
Ivth vt £l Th45 14 =i

10 10 5373/ #@A (2 3:29.62 10 8 7136 B3 m+F (1) 3:29. 44
L34 3rt HNET £t )3 BARK

11 7269 dil ZH (1) 9| 7206 &R EH ()

WY REFH %18 (12) vy h 3% B Ri5




ZFHE
800m

BALL—A
JIEfL| No. E 4 EEE R4 R &3 | IEsL
1] 8002 mh#t #HE (3) Him 2:23.36 1 1
2 6689 1riE #4K (3) BE 2:23. 41 1 2
3 4505 %A K#E (1) HFA 2:24. 66 1 3
4] 6894 AT #EXE(2) —®&E 2:25. 60 1 4
5 5026|L8 sz (1) AEF 2:26.35 2 1
6 8166 EX%: #x(2) 5= 2:27.68 2 2
78064 ¥4t v/ Y (3) FE 2:28.39 2 3
8| 8481 TFIE %X () TIE 2:28.75 2 4
9 5025 Ba[ER =7 (2) AEF 2:29.78 2 5
10, 8053 BHXR BEF (2 AEH 2:30. 27 2 6
11 4635 =ik #£1E(Q) FHRE= 2:31.04 2 7
12 4701 4835 4% (1) FHRER 2:31.40 1 5
13] 81687 1FDH () 5= 2:31.62 3 1
14 4768 8 =i (1) FELILA 2:32.74 1 6
15] 7189 /nH #1H (3) =i 2:33.17 3 2
16 8624 #&F RRAEE (3) B4 i 2:33.21 1 7
17) 6060 AHzE Q) L& 2:33.94 1 8
18] 67245+ FK () =i 2:35.72 4 1
19 7284 FF ERE () TEF 2:36.15 3 3
20/ 6334//hL EZE Q) EiE 2:36. 21 3 4
20 4503|# BEKRZE 3) HFE 2:36.21 2 8
22| 7106 5kH FHE(2) ne 2:36.43 3 5
23] 7962|/hE FZE(2) ic¥ad 2:36. 56 2 9
24| 8147|E1L =31 (@) FAREEB 2:36.74 3 6
25| 6607 &)1 #£85(2) BEA 2:36.96 4 2
26 7150 fnfE HFHE () i3 2:37.30 2 10
27 6499|Fmt E3k (2) ERILE 2:37.61 4 3
28| 4677 FB {E#i(2) FtAEH 2:38. 14 3 7
29 8231 %A EE2(Q) FRiE 2:38.28 2 1
30| 7483 =iE B= (3) EXMERE 2:38.58 3 8
31| 6666/ LA MEE2) E23%m 2:38.64 1 9
32 7055 & R (2) JE BT 2:39.12 6 1
33| 5873 EfE F14E(2) &/ A 2:39. 60 4 4
34| 4506/ 5H#H £FE() HLFE 2:39. 62 5 1
35| b619/8REE Z=(2D) =i 2:40.52 1 10
360 8412 PXE Ft(2) B A= 2:40.72 6 2
37| 7359 Wi L\AE(Q) I 2:41.18 6 3
38| 7958 =& E (3) =¥ 2:41.42 5 2
39 8100/%&% #EZ=®0) EEIES 2:41.43 4 5
40) 6494/ %tk BA(2) AN 2:41.50 5 3
41 7266 1lLA 555 (2) HEEEF 2:41.82 4 6
421 7249 #F5E EAE () FER 2:41.88 6 4
43 4156 1Bk =) & 2:41.95 4 7
44 6605 A BAE (2) BaA 2:42.50 5 4
45| 8143/4tIE #HER (1) FHAEER 2:42.82 9 1
46 6953 #H;E F53E (1) &K 2:43.09 7 1
47 5401 2 Bz () HNET 2:43.24 5 5
48 8375 FP EEHEQ) =7 2:43.49 3 9
49 8001 [ ¥s#& (3) Him 2:44. 47 3110
50| 7005 F% mEF (2) {EE8 2:45.75 4 8
51| 5842 #f&iE =k (1) &/ FH 2:46.99 9 2
52| 5371 K+t 51=(2) HNET 2:47. 31 6 5
53| 8275 /M ik HHTE (3) En o R R 2:47.91 4 1 9
54 4499 WIE BE Q) HFIE 2:47.92 7 2
bb| 8389 F O Fizx (1) =& 2:48.72 9 3
56 8014 8 R &1 (2) Him 2:48. 83 5 6
57| 8717/ HZE (3) Fi 2:49.02 5 7
58| 4077 £H# &2 iR 2:49.13 9 4
59| 7950//\E BHEE 3) ¥ 2:49.72 5 8
60 4649 #Il EZ(2) FAEM 2:49. 85 6 6
61 5748 HH K&E®R) 1B 2:50. 27 6 7
62 7003 )il EE(2) S84 2:50. 68 5 9
63| 4689 /#x HEE (3) FtAER 2:51.06 3| 11
64 6723 HE4E EER(1) =4 2:51.25 1 3
65 7370 1k 1LFE(2) Bl 2:51.32 6 8
66 7210 /TN JLA (1) =i 2:51.69 5110
67| 4645 EF EMA(2) FAEM 2:51.77 8 1
68 7001 chig 1LhvE (2) 1588 2:52.06 6 9
69| 8706 #& E/Fi() 153 2:52.27 8 2
70 8148 4tiE VA= (3) FIBEER 2:54. 74 6 10
71 5910 F#HE & @Q) EHid 2:55.08 5 1
72| 6565 BiZE B&AHR(2) EaR 2:56.22 1 4
73] 82714 KT #%E (3) By iR 2:56.93 1 5
74| 8060 FRHEH 2% (1) AEH 2:57.54 9 5
75 5737 EE #1ZE (1) 1B 2:57.67 5112
76/ 6696 22K Fifkh (1) BE 2:58. 49 1 6
77 8715/ 1LA #Z Q) 5|4 2:58. 66 1 1




ZFHE
800m

IEGL| No. K 4 #53E FF R =k A& EE # B&
78] 7486/ H FHE(2) {ERMERA 2:58. 89 6 11
79 4509|7Em RR=E (1) AFI 2:59. 01 8 3
80| 5897 &tE & (2) HiE 2:59. 56 8 4
81| 5617 Pk & (2) =B 2:59. 67 4 10
82| 5862|#AE () &/ 3:00. 27 7 8
83 7244 T# E# (1) HEF 3:00. 62 719
84 7198 /iR FEFE (1) =i 3:02. 51 8 5
85 4507 AfRH BET (1) AFIL 3:03. 36 9 6
86 5914 2)Il (L (2) a1 3:03. 40 8 6
87| 5400 KAfR #7504 (3) T 3:05.73 8 | 17
88 7478|;kH #3 (1) {ERKERA 3:05. 95 8 8
89| 7137 &Hm X&) BABL 3:06. 55 8 9
90| 8701|i=fk WXEB (1) [1Tpvi] 3:06. 64 9| 17
91 8016/;F/K &) Him 3:10. 64 710
92 7285 fis X (1) Z5R 3:13.29 2 | 12
93 8059/MNE& #5E (1) mEH 3:15.04 9 8
94 71|+t #5% (1) = 3:15.98 9 9
95| 5844 dig F (1) %/ 37 3:28. 39 111
96| 7136 E# ¥ (1) 153 3:29. 44 9 10
97 5373 #tH ¥ (2) HET 3:29. 62 8 10
98] 7433/ AR FEMK(2) 232 3:30. 09 6 12




BN 6A9H 13:00]
1500m
R
[ 18] [ 248]
& No. E £ iR iR HE B No. KE 4 mEA iR EE
1 8 7400 #tFE =M (2) 4:47.7 1 10| 4075 Il &7E(2) 5:04.2
Lth 3% JEH 1F47 134 R
2 16 8413|FH DE() 4:48.9 2 12 6946 =& #hi5(3) 5:06.0
YY4 2 Bk B = b IYER A3V K
3 70 8000 f#t #iE (3) 4:53.7 3 17 4600 5K F4AE(2) 5:11.2
hh3 13" % =] AR F ft t@AE=
41 17 4500 4% EZFEQ) 4:57.5 4 7 8356 {kikE #E1E 5:11.5
W97 Ith HFIk ¥ 7¥h TR
5 2 8357 kiR 1&TE 5:03.1 5 19 6493 EAH ZZ5%(2) 5:14.5
#h9 9% TREB)I #+4° 1am ERILE
6 4 8826 FHi w0 (2) 5:04.9 6 9| 4461 T+ ERB Q) 5:15.5
SUVESAN] Dt YELT V1 AF
71 10/ 7421 =4 #F ) 5:08.7 7 4| 7426 1IZAR 85 (3) 5:18.1
4 7ha 7323 YhEh %I 2323
8 9/ 5963 E& =) 5:09.3 8| 14 8232 Kk ZZ25(@) 5:18.3
D5FA" TH{ Nk g 11935 2an Dt
9 6 7208/l FiRk (2) 5:10.7 9 3| 8276 ¥t Fuk2 (3) 5:18.6
AT Ut B 555 744 B R
10 19 5973/ 51L #£5(2) 5:16.8 10 2| 8382/ Fa#t £ (3) 5:21.8
AhYY ik ne s YL T1h =%
1 3 8314=T EE®) 5:18.2 1 6| 6694 451l F4E(2) 5:22.9
s 4t = Y /M D RE
12 5| 82718 &R #%E (2) 5:19.9 12 13 8592 €F [5m (3) 5:25.0
4479 3 By RER h%3 At oS
13 14| 5615\ig= FHR(2) 5:20.2 13 1 8282 At < B#&(1) 5:25.2
oyt =B PIS" HM3 By o R
14 15 6821 T ER(3) 5:20.5 14 5/ 6591/ %O ®AMH(3) 5:25.4
Vav VY ] =3 Y0 F T b XN}
11 5974 1Z% %3E(2) 15| 18 8383 EN %% (3) 5:29.7
Yt L3 N s Ri5 H9F 14 =%
11 5961 =iE E&F (3) 16 8| 4501 A{RE F71(3) 5:35.3
Y0 37 nes Ri5 hE 4 94/ HFIb
12| 5610 5% EX Q) 17| 15 8005 F#y =t (3) 5:41.2
4/ 33 =5 Ri5 E3YY 7A3 Hif
13] 5972 dbiR EE (2) 18| 16/ 5166 et EFEEE (2) 5:48.3
49 Yuh ne s Ri5 h3ym Itk =1t
18| 8167 =t A% (2 19 11 5962|;® /MEiE(3) 6:50. 2
Y OTUY &= Ri5 r a1y NF S




[ 3#] [ 448]
& No. E % iR & HE | B No. K 4 mEA BHEEE
1 4| 6610|ZH =PE(D) 5:22.7 1 5| 4080(#% =< 5(2) 5:35.8
I XY #¥h A=Y MY #93 iR
2| 120 7211 |FHg w1 5:22.9 2| 14 6502|F# W BE&HE (1) 5:37.5
I+ 41 B ANt BB ¥ BRILE
3| 8| 5404|F&HE METE Q) 5:23.1 3| 2| 7408iEEE =K (1) 5:42.4
4h%Y 4% HET by 313 K H
4] 10| 6601|KIE % (2) 5:23.9 4] 7| 8392|EA EE (2 5:42.6
Y3 713 e VPN BAY) oE S
5| 16| 6497/hL B (2) 5:28.0 5 1| 5754|1KkF &% (3) 5:45.1
WY b ERILE bt Bt
6 7| 8705|@#+f IR (3) 5:28.4 6| 3| 8013|/hn ALE(2) 5:45.3
YA ¥ win vy T =4 7]
7 6| 6950 #ff B (2) 5:28.6 11 4] 7213|% BE () 5:46. 1
L7y bt EK Y 74% B
8| 13| 7480|%=& EET Q) 5:31.4 8| 13| 79654t/ 4niE (2) 5:49.6
7AT 193 EXMERA 905 bES R%
9| 18| 8237|/h# ;E(1) 5:33.9 9| 10| 5175\ ILMA =) 5:49.8
awy Y DIk 538 % =it
10| 3| 5164/ luA =& (3) 5:34.2 10| 6| 4765/FIL &M (2) 5:50.8
8 74h =it 994 Yy FeLtlLE
11| 15| 7492\ K% K& (2) 5:40.3 11| 12| 5977FdD FExE() 5:56.2
47 bED EXMERE DA b33 =]
12] 17| 6642[5E%& EZE (3) 5:42.7 12| 9| 5759|@+ m=E@Q) 6:02. 1
wA° % IFh 284 Thhs 313 71
13| 19] 7951|ES $HE Q) 5:43.2 13| 16| 7423/A% ZE@Q) 6:03.3
E0YY /% R ER 4 AL #hE%
14| 14| 5516/#1L k52 (3) 5:44.5 14| 8| 5975/@d (1) 6:05.9
AT 3% REHERL ot 71 N s
15| 2| 5563|@A 22 (1) 5:45.1 15| 15| 5716/1Z@A BE () 6:06. 6
44tV =5 Yhe £ 7
16| 9| 5805|#fL = (3) 5:45.9 16| 17| 8065/ith £ i (3) 6:07.0
L3¥3 3p3 ERE 10" 3 W HHER
17| 5| 7493|3E #.(2) 5:47.1 17| 18| 5976|411 #ir (1) 6:08.9
M 95 pIF PN AN 9T T N s
18 1| 4314|578 #=HA) 6:03.3 18| 11| 728341 %45 (2) 6:19.4
$40 Thn FIR amF 319 ZER
19| 1] 749038k £ (2) 6:16.5
Y3z~ h/ PN G AN
[ 541
g No. KE # A R mE
1 15| 7216|7%:R 888 (1) 5:44.3
5440 %3 EH
2| 18| 7476|178 HE) 6:07.0
THAY FI PN AN
3| 17| 4315|F:8 EE() 6:13.7
7347 A5 3 ER
4| 2| 4659|XkIE {HFE (1) 6:14.8
¥ 1 19% tHEM
5| 14| 4664/%tt ZEFE () 6:15.7
L3h3 nt LtHEM
6| 11 721228 =) 6:18.7
#7v 31 =L
7 7| 5840|£3# =& () 6:18.9
{31 &/ H7
8| 10| 8026(% iz (1) 6:20.1
' 14 =g
9| 16| 80208 K &5 (1) 6:21.4
AR F Y5 Eim
10| 13| 5841+ BE=() 6:25.1
494 tt &/ H
1 8| 6504[IEEFA FmE(1) 6:31.4
y1/4Y) 4% ERILE
12| 4| 6503[EER % (1) 6:36.3
751" 39% ERILE
13| 3| 591634 HEEEQ) 6:39.9
1Eh v1h =T
14 1] 7435\ B=() 6:57.6
Y F Ay 7323
15 6| 7961 EEAR HFHE(Q) 8:35.3
WE D =%
5| 7215/ &I F A% (2)
Y 13 B Ri5
9| 7338|JIIE FER ()
1783 433 7323 Ri5
12| 6452|5732 = (1)
4D vt = Ri5




ZFHE
1500m

BALL—A
JIEfL| No. E 4 EE AR R4 R &3 8 | IEsL
10 7400 #FFE ZEIR(2) JRHE 4:47.7 1 1
2 8A13fEH LEQ SRS E 4:48.9 1 2
3 8000 4t #F (3) Him 4:53.7 1 3
4 4500 %A =% (3) HFA 4:57.5 1 4
5 8357 {kik 1&TE TFEBII 5:03. 1 1 5
6 4075 )l %1€ (2) iR 5:04.2 2 1
7. 8826 #FEim (D) FRiE 5:04.9 1 6
8 6946 =& fiifs (3) &K 5:06.0 2 2
9 7421 =W #MEF Q) A% 5:08.7 1 7
10| 5963 ;E:& %E(3) L= 5:09.3 1 8
11 7208 A1l Fisk (2) EH 5:10.7 1 9
12) 4600 $5K FE4 (2) FTHREZ 5:11.2 2 3
13| 8356 {kik #1E TEBII 5:11.5 2 4
14 6493 EE ZZ%(2) BRILE 5:14.5 2 5
15 4461 T+ EH Q) HF 5:15.5 2 6
16 5973 &1 F%(2) =] 5:16.8 1,10
17] 7426 2K #5(3) [ 5:18.1 2 7
18 8314 =T EHE® =7 5:18.2 111
19] 8232 K& 225 (@) i 5:18.3 2 8
20| 8276 ¥ Frk2 (3) B~ R 5:18.6 2 9
21| 8278[;&:R #ZE(2) EnsiBE 5:19.9 1 12
22| 5615 & FH(2) = 5:20.2 1 13
23| 6821 & EHR@Q) BE 5:20.5 1 14
24| 8382|FAT HE (3) =7 5:21.8 2 10
25| 6610 F# =+OFE(2) B= 5:22.17 3 1
260 7211 |F g &) EH 5:22.9 3 2
26/ 6694 &L ik (2) BE 5:22.9 2 1
28| 5404 7% METE Q) HNET 5:23.1 3 3
29| 6601/ KIE % (2) Be 5:23.9 3 4
30/ 8592/£F BRE®) [o e 5:25.0 2 112
31 8282 F# < B#(1) EnsiBE 5:25.2 2 13
32| 6591/%&0 @t @) Be 5:25.4 2 14
33| 64970/ BR(2) ERILE 5:28.0 3 5
34| 8705/F#t JH@3) 53 5:28.4 3 6
35) 6950/## A% () &K 5:28.6 3 7
36/ 8383 mH £ 1) =7 5:29.7 2 |15
37 7480 &=&p EEF (3) EXKMERER 5:31.4 3 8
38 8237/ ¥ ;E(1) FriE 5:33.9 3 9
39 5164 1LE EE Q) =it 5:34.2 3 10
40/ 4501 A&A F1H Q) HFIAE 5:35.3 2 16
41 4080 #& =< 5(2) iR 5:35.8 4 1
42| 6502 FF BLE) ERILE 5:37.5 4 2
43| 7492 K&t RE (2) EXMBERA 5:40.3 311
44 8005 Ty Zfi(3) k3] 5:41.2 2 17
45 7408 iEEE =R () JEH 5:42.4 4 3
46 8392 Bl kEE (2) = 5:42. 6 4 4
47 6642 5 EHEQ) 254t 5:42.17 3 12
48 7951 BB HEQ) =5 5:43.2 3|1 13
49 7216 ;&R @i (1) =154 5:44.3 5 1
50| 5516/# 1L FEE Q) REHEE 5:44.5 3| 14
51| 5754/iIRF FHx Q) 1B 5:45.1 4 5
51| bb63/A EE(1) = 5:45.1 3| 15
53| 8013/ #LE(2) Him 5:45.3 4 6
54| 5805l Ex@Q) B 5:45.9 3| 16
55| 213 M BE() E% 5:46.1 4 7
56 7493 R 1 (2) EXMERA 5:47.1 3 17
57 5166 gt E[B¥ (2) =t 5:48.3 2 18
58 7965 JtIRE F14E (2) RH 5:49.6 4 8
59| 5175 1LA #ZFE (1) =t 5:49.8 4 9
60 4765 FHL 27 FE LA 5:50.8 4 10
61 5977 &0 FEREN) I B 5:56.2 4 | 11
62| 5759 A+ ExER) 1B 6:02.1 4 |12
63 7423 A% E Q) f2 30 6:03.3 4 13
63 4314 ik BHEERA) ER 6:03.3 3|18
65 5975 A ZE(1) I g 6:05.9 4 | 14
66/ 5716/FEA BE (2) 1B 6:06.6 4 | 15
67 7476 7B EHE () EXMERE 6:07.0 5 2
67| 8065;th b & (3) HAEH 6:07.0 4 | 16
69 5976 &1L A (1) = 6:08.9 4 17
700 4315/ FZ Ex() ER 6:13.7 5 3
71, 4659 xIE 6% (1) FAEMm 6:14.8 5 4
12| 4664 ¥t ZEr (1) FAEMm 6:15.7 5 5
73] 74905FK £ (2) EXMERE 6:16.5 3119
T4 121228 =5 2) =154 6:18.7 5 6
75 5840/ £H =& () &/ 6:18.9 5 7
76| 7283 "TIN =45 (2) ZER 6:19.4 4 | 18
77 8026 % B (1) Him 6:20. 1 5 8




1500m

IEGL| No. K % #53E FF R ¢ TS EE # B&
78| 8020 K %55 (1) Hif 6:21.4 5 9
79| 5841 HH BE1) &/ F 6:25. 1 5 10
80 6504 1BFFA FK (1) ERILE 6:31.4 5 11
81| 6503 ;& Je#h (1) N 6:36.3 5 12
82 5916 ;54 EHE{E (1) HEE 6:39.9 5 13
83 5962|iE /MEIE (3) N g 6:50.2 2 | 19
84 7435110 RE (1) $h5E 6:57. 6 5 14
85| 7961 IEK HiE(2) RE 8:35.3 5 15




X FHE

B3 6A9H 9:40]
100mH (0. 762m)
R Bk
[ 1481 REE +2.3 [ 2481 &k +0.8
JE| b-Y | No. K 4 R4 g = 1B V- No. K 4 £ Bk EE
1 8 1209 iR =LF) 17.51 1 1) 4242 &8 =% () 17.21
ying Yah =154 14 3y BHR
2 5 5695 mHE #75Q3) 19. 08 2 2 7368 KA £#%(2) 18. 66
| T4 T4/ REHALER | 9% 7ht =30l
3 4/ 8225/E8 &% (1) 19. 41 3 8 8709 LLuA =iFE (3) 19.02
| 1+ ERt Dk | vEh ;3
4 9 4686 Z=E FE% (3) 19. 66 4 1 7481 :thE B#% (3) 19.20
| 78 F MI LtHEER | 178 )t EXMERE
5 1 5866 'RE L&HY (2) 19. 94 5 3| 7398 £THT EHEE (3) 19. 39
| 13573 Y1) &) HPE | 7% 3F 13 K H
6 7 8390 HAt FE() 20.16 6 6/ 7204 1R ZZ2A@Q) 19.40
| Thh7 Fh =i | 33%°7 130 B
7 3 5693 /NEFE MRHE (3) 20.18 7 9 4311 #1l FE&Z (2) 19. 60
| A/ B3 REFALED | hoh'n TH EIR
8 2 TBRBEZRAN EEW) 22.27 8 b 5871 #HE EX (2 19. 81
A/9F 7Y% =31l 14 "+t &/ HT
6 7422 1% EEQ) 4 8011 HIR #&F (2
A3 Yuh 7323 Ri5 Eng £/% EiR Ri5
[ 3#48] RELE +1.1 [ 448] REE +1.1
JE| b-Y | No. K 4 B4 B EE | |JE LY No. E £ REA R EE
1 3 6719 /h#k R (1) 16.22 1 9/ 8018/FEE =< (1) 16. 86
Ay ot =4 1747 #93 iR
2 4 4138 EeE £FM) 17.98 2 8 5403 = MNhA () 16. 88
41h Tht Ik 793 hby HNET
3 5 7190 Ak M (3) 18. 45 3 3] 754 FM ELE®Q) 17.33
Ay ht =i 713 143 1:a
4 T 57113 /h#k E(2) 18. 66 4 6 7959 AT %8 () 17.98
wyy Uy 7Bt YA Y RE
5 6 7428 3EH ES (3) 18.73 5 2 1126 &KX H%(2) 18. 54
435" 93 £2323 5%Eb 714 3l
6 9 7203 /MR FEEE(3) 18.95 6 7/ 8006 FH =#(3) 18. 69
vy 1y =154 b3 Him
71 8 4159 #EE MEQ) 18.99 4] 6018/FE EZ=(Q)
33f hn pAL! by It B Ri5
8/ 2 8161 At BMQ) 20.75 5/ 8176 #2 =R (2)
0 3 5= WYYt 5= Ri5
[ 5481 ®E&E +0.2 [ 6481 & +1.4
J&| b=y | No. K 4 R4 B&/EE JE - No. E 4 il k2 R/ EE
1 6| 7101 % T #x& Q) 16.24 1 9/ 6787 [& %% (3) 14.50
Y 14 [N N FtY e
2 4 8400 e F& Q) 16.72 2 8 4597 BEE BR () 14. 81
93h" 4 FER = aht v43 THRE—
3 5 4154 $5K X& (2) 16. 97 3 5 6017 k& #IE (3) 15. 11
AR F 7Y% AL 05 1t i
4 7 5002 FB EIE(Q) 17.05 4 7 5756 F# HZE=3) 16.08
¥/ Yh /N EIN ¥y 3t HBIE
5 9| 7153 18iE M (3) 17. 21 5/ 2 5219 =i =M () 16.39
AVE hYY [11pn) Wy 3y BiE
6 8 8007 = E®) 17.37 6 6 5858 KE Em@3) 16.65
D b Hif g Bty &/ HE
7 2 1449 #EK BHE®Q) 17.38 7 3 4306 ¥k #(2) 16. 88
3332° 73 232 WUE R INEER
8 3 8716 Al #£H (3) 17.59 8 4 4596 BEA F0EF Q) 17.89
17%% 19" % ®it w3y /M D LHFE—




X FHE

100mH (0. 762m)

R A LL—XA
IEHz No. E & ik ik (E) | EE #8 IEf
11 6787 & %= (3) Je=il 14.50 (+1.4) 6 1
2 4597 BR BE Q) tEE— 14.81 (+1.4) 6 2
3 6017 skJ/E #hIH (3) B 15.11 (+1. 4) 6 3
4] 5756 E#H EZE Q) 11t 16.08 (+1.4) 6 4
5 6719 /h#k #Eg (1) =i 16.22 (+1.1) 3 1
6 7101 FT #£& Q) we 16. 24 (+0. 2) 5 1
7 5219 =5, &= 3) Bk 16.39 (+1.4) 6 5
8 5858 KR £/ () &) HAE 16.65 (+1.4) 6| 6
9 8400 #EAR F=@Q) =75 16.72 (+0. 2) 5 2
10/ 8018/ FEE &< (1) HiR 16.86 (+1.1) 4 1
11 54032 HhA (3) HNET 16.88 (+1.1) 4 2
11] 4306/ #aK #5(2) INEEER 16. 88 (+1.4) 6 1
13 4154 5K X&(2) | 16.97 (+0. 2) 5 3
14) 5002 F% E7E(2) /R 17.05 (+0.2) 5 4
15| 4242 {£15 =% ) BHR 17.21 (+0. 8) 2 1
15 7153 /#5418 #1185 (3) 153 17.21 (+0.2) 5 5
17 154/ FM FL%EQ) 53 17.33 (+1.1) 4 3
18] 8007 =& &) Eim 17.37 (+0.2) 5 6
19] 7449 #K FEQ) 7323 17.38 (+0.2) 51 17
200 7209 R F&LF) =154 17.51 (+2.3) 1 1
21 8716 &l #£A8 (3) ®it 17.59 (+0.2) 5 8
22| 4596 B #E (3) EHE— 17.89 (+1.4) 6 8
23 4738 HF £EZ () PRI 17.98 (+1.1) 3 2
23] 7959 AT FE£5(3) =¥ 17.98 (+1.1) 4 4
25 7190 ##k A= (3) =4 18.45 (+1.1) 3 3
260 7126 #FEAX HZ (2) Rk 18.54 (+1.1) 4 5
27 1368 KA E*x(2) el 18. 66 (+0.8) 2 2
27 5T13[/h#k E (2) HRIE 18.66 (+1.1) 3 4
29/ 8006 FH E#x(3) HiR 18.69 (+1.1) 4 6
30| 7428 @A ES (3) $ARE 18.73 (+1.1) 3 5
31] 7203 /Ak ERES (3) B 18.95 (+1.1) 3 6
32 A159 #EE MIE () 3] 18.99 (+1.1) 3 7
33| 8709 uA ®iFE(3) 53 19.02 (+0. 8) 2 3
34 5695 FkEH ¥74(3) REFALER 19.08 (+2.3) 1 2
35 7481;thE B4 (3) EXMENRER 19.20 (+0.8) 2 4
36, 7398 £THT HEE (3) p 19.39 (+0. 8) 2 5
37 1204 R 2 2A@3) B 19. 40 (+0. 8) 2 6
38 8225 B IEE(1) Dt 19.41 (+2.3) 1 3
39 4311 #b1l ZEZ (2) )= 19. 60 (+0. 8) 2 7
40 4686 Z=3E R (3) FtAER 19.66 (+2.3) 1 4
41 5871 ;hA B4 (2) &/ HA 19.81 (+0.8) 2 8
42| 5866/'RE L&Y (2) &/ HAE 19.94 (+2.3) 1 5
43| 8390 that FE (1) =7 20.16 (+2.3) 1 6
44| 5693 /NEFER mRfE (3) REFALEP 20.18 (+2.3) 1 7
45 8161 A4 & (2) ) 20.75 (+1. 1) 3 8
46) T3N3 BN EE() I 22.27 (+2.3) 1 8




ZFHE

E M5Bk

(R (.25 6890

9:30 |

R
[ 148]
JESE| Bt Fon - K 4 g% -1- | -2- | -3- ERE -5

1 49 5061 |/p#k Z=5iE@Q) 4.37 4.12 X 4.317
'y 1y mE +0.7 -0.8 +0.7

2 45 4502 FHith F=EQ) X 3.99 4.09 4.09
ENZVERS HFIk +1.3 -1.9 +0.9 +0.9

3 46 6492 FII HEHR (3) 3.97 3.99 3.97 3.99
Thntd Etf EBRIEE +0.2 -1.3 +2.1 -1.3

4 43 5402 db¥t EFE3) 3.69 x 3.93  3.93
547 vk HNET 0.0 +0.5  +0.5

5 34| T402/NE ZE(2) 3.760 3.84 3.68 3.84
9 JEH -0.1 -0.2 -0.1 -0.2

6/ 38 8718 fiE :=4x%() 3.720 3.74 3.84 3.84
7747 13 Bt -0.6 -0.5 +1.3 +1.3

70 44 7019 /hE ED Q) X 3.82 3.56 3.82
3 14 E8H -0.1 +0.6 -0.1

8| 50| 8740 F% 1¥1E(2) 2.720 3.5 3.75 3.75
¥/ 1/% ZER +2.1 -1.2 +1.0 +1.0

9 18 7047 i®ZE =403 3.37 3.46 3.72 3.72
7D 31 /N -0.5 +1.8 +1.0 +1.0

10/ 36 7432|sh4t BE (2) X 3.38 3.68 3.68
Thh3 vF E7.92:3 +1.5 +1.1 +1.1

11 16/ 6949|/hth FEM(2) 3.52 3.38 3.65 3.65
Mr I AKX +1.0 +0.5 +2.2 +2.2

12) 33| 7361 &R #ty(3) 3.260 3.56 3.64 3.64
AV #Y/ el -0.1 +0.3 +0.2 +0.2

13] 28 6481/&%F EBE @) 3.63 x 3.37  3.63
47347 73 ERILE +0.9 -0.4 +0.9

14/ 11 5093 FH [EFom () 3.6 «x X 3.62
YEF h/h e 0.0 0.0

15 17) 7436/ FK e () 3.60 3.48 3.06 3.60
77% ttt 7323 -0.4 +2.0 +1.7 -0.4

16) 14) 7241|%#E BEF (1) 3.38 3.59 3.45 3.59
PN LR HEF +1.6 +1.4 -0.9 +1.4

170 37) 7397 &t BRTEQ) 3.29 3.57 3.30 3.57
L3h3 ®EH JEH +0.3 +0.5 0.0 +0.5

18| 40 8707 =K ¥i(1) 3.35 3.16 3.55 3.55
799% M2 a3 +0.4 0.0 +0.6 +0. 6

19) 241 7200 @kt B#(2) X 3.30 3.53 3.53
7Y% Y =L -0.4 +0.8 +0.8

200 13 6697 k& #EAH (1) 3.51 3.21 2.98 3.51
497 #a% B +1.6 +0.7 -1.0 +1.6

210 31 7259 @At 224 (2) 3.39 3.42 3.46 3.46
1hh7 13% HEE +1.5 +1.8 +0.4 +0.4

220 M 6717 %F <A FiKk(2) X 3.30 3.45 3.45
NNERL =4 +1.6 +0.2 +0.2

23| 22| 1253 FHk B (2) 2.360 2.83 3.42 3.42
EIN Yy M REF -0.7 -0.6 -0.1 -0.1

24| 26| 4229//hR BB (1) 3.271 3.20 3.28 3.28
1R MVt 2H#R +0.5 +1.2 -0.7 -0.7

25/ 29/ 6073 FHAK FEI(2) X 3.28 X 3.28
JZERN) t=& +0. 1 +0.1

26/ 32| 8704 EEE Z&F#H(1) 3.2 «x 2.93 3.25
Th ok 7U% 2 [1TE) +0.5 +1.6 +0.5

27 25 M3 A E () 3.19 3.05 3.22 3.22
4% A HIEERED +0.8 +0.4 -0.8 -0.8

28| 35| 7096 PE mEE) 3.120 3.21 2.19 3.21
N9 913 [N -0.4 -1.5 +1.5 -1.5

200 15| 4412/ /N2 i () 2.48 3.19 2.87 3.19
0t RENRAD +0.9 +1.1 -2.9 +1.1

300 21 7170 hE BH#& (1) X 3.17 3.1 3.117
Ty v 1 =i -1.2 -0.5 -1.2

31 9 6630 R HHY (1) 3.16 3.10 2.99 3.16
v/ ThY 2841 +0.2 +1.0 -0.8 +0.2

32 6/ 6698 HFH WE(1) 3.08 3.15 «x 3.15
ZE7Y R -0.3 +1.0 +1.0

33 70 N9 a0 EEN) 3.14 3.09 2.79 3.14
425" F TAn =i -0.5 +1.0 -0.1 -0.5

340 12 7364 triE HATHEE (2) 2.56 3.14 2.90 3.14
150" % 2/3 el +0.8 +0.6 -0.8 +0.6

35 23] T3 RFE E=&HF() 2.95 2.90 3.01 3.01
yyb 3% BARK +1.2 -0.5 -0.3 -0.3

36/ 19/ 4087 HiR #4&(2) 2.85 3.00 2.89 3.00
TUH9 b BFR -0.4 +0.5 +0.9 +0.5

37 10| 7434|#% ZE(1) 2.82 2.98 2.86 2.98
MY T4h F7.92:3 -0.1 +2.0 -0.7 +2.0




ZFHE

E M5Bk

[ 148]
Bz | B | Fon' - K % B4 -1- | -2- | -3- ERt B
38| 27| 6498| KB HKK(2) X 2.860 2.61 2.86
T34 7U% ERILE +0.4 +0.4 +0.4
39| 30| 4769 |=ifs (1) 2.74 2.61 2.76 2.76
Rkl Fe L@ +1.5 +2.1 +2.1  +2.1
40 5| 1372|7iE EE (1) 2.67 2.73 2.69 2.73
Y40 319 el -1.0 +0.8 +1.4 +0.8
41 3 91|/ #hE (3) X 2.44 2.67 2.67
Yy 1z h =i +1.3 +2.0 +2.0
42| 39| 5071 |luE 2% (2) 2.13 X 2. 64 2.64
ey 74t HE -0.9 +0.8 +0.8
43| 20| 5867 iRk @575 (2) X X 2.54 2.54
by 1) B/ HA +0.6 +0.6
44 1 73740 =&71E1) 2.16 X 2.53 2.53
497 F 1 el -0.9 -2.4 -2.4
45 8| 81032 RATE (1) X X 2.46 2.46
¥ 3993 I BB -0.5 -0.5
46 2| 137|EB FHF () X 2.300 2.27 2.30
vhE vty ie3ll! 0.0 +0.6 0.0
48| 7207|£H k%2 X X X R L
LS M) B
4| 7006&3 B (1) x5
174 Yt &8
42| 4651E E (2) Ri5
19 31 LHZEM
471 70003 OHAY (2) Ri5
¥ 39 ehY &8




ZFHAE

E M5Bk

[ 2481
JEfE | Bt | Fon - K 4 g4 -1- | -2- | -3- Ekd -

1| 50| 7841[/h#k F#Ek (3) 5.02 5.05 5.08 5.08
vy Fta Rig +1.3 +0.2 -0.1 -0.1

2| 43| 5802|fh# FH(3) 4.78 4.67 4.61 4.78
Thhs +% EiE 0.0 +0.1 +0.3 0.0

3| 29| ST11|EHEE FEE Q) 4.74 4.76 4.31 4.76
7YY *3h 7/t +1.0 +1.1 -1.2 +1.1

4| 35| T021|78:F &= (2) 4.65 4.55 4.48 4.65
A9 hE3 /N +0.2 +2.0 -1.0 +0.2

5 49| 8708|FLIL #I (3) 4.50 4.36 4.43 4.50
WrY 19 [11E) +2.3 +1.0 +0.3 +2.3

6| 47| 8744\mME /NiE (2) 4.49 4.37 4.42 4.49
hyv an3 ZEN -0.5 +0.9 +2.5 -0.5

7| 22| 4691 |\#piE EF (3) 4.49 4.19 4.360 4.49
47 19 LTHER +1.0 +0.5 +1.9 +1.0

8| 41| 7966|548 E#b(2) 4.32 4.42 x 4.42
Ny R -0.6 +0.4 +0.4

9| 45| 4675|FE BHF(2) 4.42  x X 4.42
T 743 LTHER 0.0 0.0

10| 24| 7020/ L% EZE(2) 4.14 4.40 4.32 4.40
9L/ hA3 /N +0.8 +1.0 +1.5 +1.0

11 21| 8050\ KK #A (2) 4.37  x 4.19 4.37
LE VI P +1.1 0.0 +1.1

12| 48| 5671\ &%8 FF(2) 4.36 4.28 x 4.36
v #13 REFILER +0.9 -1.2 +0.9

13 5| 5069 E ZEZ=(2) 4.18 4.34 «x 4.34
4th 4t ME -0.3 -0.1 -0. 1

14] 31| 6609|F%FMB 4597472 4.31 3.83 3.81 4.31
4 9397 47 Ham +1.7 +1.2 +0.6 +1.7

15| 39| 5869/ FAH ik (2) 4.25 4.30 4.25 4.30
194 #1 &/ FH -1.9 +1.1 +0.7 +1.1

16| 38| 4407 #AA HZ=(2) 4.07 4.17 4.30 4.30
w4 Ut B ED -1.4 +1.1 +0.9 +0.9

17| 34| 5066;th@A BEEF (3) 4.25 4.29 4.27 4.29
179" #b M= +0.3 +1.8 -0.2 +1.8

18| 11| 4676 ##k &1t (2) 4.14 4.29 3.90 4.29
Hun ¥y $39h tEHER +0.6 +1.3 -1.8 +1.3

19| 33| 79521/\# HZE=(3) X X 4.28 4.28
7 19t R% +0.5  +0.5

200 25| 8019;/hEM E(1) 4.25 4.18 4.07 4.25
e s i Hif +0.5 +1.1 +1.0 +0.5

21| 30| 5667 |/N#& ME(3) X 4.05 4.25 4.25
nw vy htz REEFALED +0.7 +0.6 +0.6

221 20| 7202\/|)| £#5% () 4.1 X 4.24 4.24
1997 A2+ B +1.5 -0.9 -0.9

23| 27| 5868|#EH #£3F(2) 4.10 4.21 X 4.21
7V 4 14t &/ FH -0.8 +1.6 +1.6

24| 18| 5763|=ZH#F BAE (3) 4.19 3.97 4.07 4.19
VL7 bMED BIE +0.8 +0.1 -0.8 +0.8

25| 37| 8386|2TF BE(2) X X 4.18 4.18
YA Wt = +0.5 +0.5

26| 40| 5132 #3=@Q) 4.12 4.15 3.97 4.15
937 #% F 87 -1.0 +1.2 +1.3 +1.2

271 13| 1107\8REE #UE (2) 4.06 4.15 4.11 4.15
149" 3 744 we -0.3 +1.3 +0.8 +1.3

28| 14| 8017\mIL F‘KE (1) X 4.14 3.96 4.14
INEREEOY) Eim +0.9 +1.9 +0.9

29| 32| 4274 \#0E & (3) 4.13 x 4.09 4.13
47 LY | +1.3 +0.4 +1.3

300 12| 7431\ L &E(Q2) 4.04 4.10 3.78 4.10
B3y 39 v#3 7323 -1.3 +1.8 0.0 +1.8

31 2| 4237|488 /g (1) 3.67 4.05 «x 4.05
9ing a9} Z2H#R +1.6 +0.5 +0.5

32| 10| 8146/@ATF S 1 vH () 3.63 3.82 4.04 4.04
arh 7Yy FEIBERER +0.5 +0.6 0.0 0.0

33| 16| 7109|Fix ##1(3) 3.59 4.04 3.67 4.04
TYh M [N -0.8 -0.5 -1.1 -0.5

34| 15| 6823|BE D565 (2) 3.90 4.00 4.02 4.02
4An3 937 BE -0.4 +0.2 +1.1  +1.1

35 19| 64903kt &S (3) 3.84 4.00 3.80 4.00
91 hth B R ILREE +1.0 +0.2 -0.7 +0.2

36| 42| 4276\ &k XM (2) 3.9 3.99 «x 3.99
3y Ik | -0.2 +0.1 +0. 1

37 3| 4690\t=H 2 (3) 3.92 3.95 3.96 3.96
795" 714 LTHER +1.1 -1.1 +1.1 +1.1

38| 28| 8598|1rAt EAE®Q) X X 3.95 3.95
4hL7 113 fododne 0.0 0.0

39| 17| 5865|=iE &Z=(3) 3.720 3.92 3.79 3.92
Nk &/ +0.7 +0.3 -1.0 +0.3




ZFHE

E M5Bk

[ 2481
JEfE | Bt | Fon - K 4 g4 -1- | -2- | -3- OB B
40 6| 5072|1LuMEA #HE(2) 3.81 3.89 3.89 3.89
7y 13 mE -1.2 +1.6 +1.9 +1.6
41 1| 8061 |{Fik = (3) 3.68 x 3.87 3.87
1My vt FHER +0.7 -0.4 -0.4
42 23| T494|85K ELEF (2) 3.53 3.85 «x 3.85
AR ¥ 3% EXMERX +0.2 +0.4 +0. 4
43| 26| 6820|EA Fifb(3) 3.84 3.63 3.82 3.84
hxb )Y BE 0.0 +0.8 +0.2 0.0
44 7| 7429 |4Hdr B (3) 3.65 X 3.68 3.68
Nt Y 2323 -0.5 +0.1 +0. 1
45 4| 5133|FA £ (3) 3.6 «x 3.160 3.62
Ny htn h 85 +0.3 +0.7 +0.3
8| 5755|m#f HMY () x | x X ERAEL
Tha3 7hY 7’ -0.2
36| 6791/ lLE AEFQ) Ri5
¥4 433 g |
9| 5167\ FKAFE D% (2) Riz
ThOR Y4 &t
44| 4078|&1R E(2) Ri5
9934 H4 iR
46| 5067 FE# BAZE(3) Ri5
IN XY W7 EE




X FHE

00k B 6H98 9:00
F## (1. 000kg)
RS
MBS B Fon - E % RiE% - 3 B WE
13 7960 ﬁ;;ﬂ 7%2‘3 ©) - 22.61 20.98 21.90 22.61
2‘ 2 4210 ﬁﬁﬁ?(@ R 19.14 21,46 x  21.46
3 1 5170 “}iﬂEtsEl%(Z) _— 11.30 11.61 11.99 11.99
KFHE BB 6H9E  12.00]
o N Yy IR0~
R
JEfE | B Fon - K 4 g -1- -2- | -3- | E% e
y 2 =
R R kLt
3 7 8110 f,,%g g’E(U = 27. 48 29. 60 29.81 29. 81
4/ 18 5153 %zg 5%?6(3) PARE 29. 15 27. 04 28. 36 29. 15
THIE Ehl =it ‘ ' ' '
5 17 5000[:;:51; E?E(Z) W 24.35 27.30 19.08 27.30
6 4 6500 ifﬁfﬁf) - 14.13 22.88 23.96 23.96
7 15 5783%?} %?(I) - 21.95 23.64 21.41 23.64
8 21 4272 ?35,'9' %ﬁ%i(@ S 22.96 18.27 23.45 23.45
9 1 7125 biﬂ/l%vigl 2) -~ 21.78 12.48 18.64 21.78
10 23 4307 Efjsﬁ*@é@ - 20.65 15.69 16.83 20.65
1116/ 4153 %ﬂi ;;;E'a@) e 20.24 19.03 16.77 20.24
122 6491 ﬁ ;-Etéﬂa(@ P x | 18.63 19.26 19.26
13 14/ 7105 fimlg *;Tlfajj(Z) " 17.56 17.83 17.50 17.83
14 12 7199 j%i‘é‘f’ %fl M o 16.81 12.80 13.53 16. 81
15 6 6484 ﬁ;ﬂ fé’Z;?E(@ P 14.93 16.74 13.04 16.74
16 9 7403 ;i;g@qﬁif@ - 14.96 12.78 13.20 14.96
17‘ 20 5070 ;r’;g; ﬁ;ﬁ e 13.06 14.75 12.98 14.75
18 1] 7972 E;I\J?? i;rﬁﬁ(ﬂ - 8.62 .27 12.94 12.94
19‘ 10/ 5068 ;Jlx\jfi\fﬁﬁi(ﬁ - x  11.62 9.65 11.62
A i
VY4 Y RE ' ' ' '
22 5 7973 iaigﬂ réa;JE ) . 9.85 9.35 x  9.85
/) /% /M




